Question (1)
Directions (1 — 3) : In each of the following questions, select the related letter/word/ number
from the given alternatives.

fo&er (1-3): oot weds weet #f Rw 1w Rywreul 7 @ wrafowa snuwerss/vea #is gfav|
Clock : Time : : Thermometer : ?

3 HY ; JATHER: ?

(A) Heat/ZsAT  (B) Radiation/faferor

(C) Energy/Z<iT (D) Temperature/drdaTe

Correct Option : D

Explanation :
As Clock shows the time, similarly Thermometer shows the Temperature

Question (2)

Skeleton : Body : : Grammar : ?
ShepTel : QNI : : STTRIOT

(A) Language/&TST

(B) Sentence/arsg

(C) Meaning/31%

(D) Education/fRr&r

Correct Option : A

Explanation :
A body consist of skeleton and language consist of grammar.

Question (3)

97 :63::48:7



(A) 38 (B) 46
(C) 32 (D) 72

Correct Option : C

Explanation :
9x7=63and4 x8=32

Question (4)

Directions (4-6) : Find the odd word/letters/ number pair/number from the given alternatives.

forder (4-6): R arv Ryaredt # & farwer ereg/srary/aEar gea/wear # gfav|

(A) Snake/@rq
(B) Whale/cger
(C) Crocodile/HIRATS

(D) Lizard/f&qehelr

Correct Option : B

Explanation :
All except Whales are reptiles

Question (5)
(A) Correction/@2iTersT

(B) Improvement/gamX

(C) Betterment/Sgair
(D) Elevation/3==1fcy

Correct Option : D
Explanation :



All except elevation are synonyms of one another

Question (6)

(A) RQPS (B) JIHK
(C) TUSV (D) EDCF

Correct Option : C

Explanation :
TUSV (2314) is not following the same order as others i.e., RQPS = JIHK = EDCF = 3214 are
following.

Question (7)

Pointing to a girl in photograph. Amar said, "Her mother's brother is the only son of my mothers's
father." How the girl's mother related to Amar?

IR T Teh TSI T 3R FRART X G 37 o1 el “IHPT AT T HTS, ALY AT & AT 7 ShaildT deT
8|7 oIS AT, 3R T 5T YhR TTad g7

(A) Mother/aT
(B) Sister/dgeT
(C) Aunt/HigY
(D) Grandmother/gTér

Correct Option : C

Explanation :
Only son of Amar's Mother's father ® Amar maternal Uncle So, Girl's maternal uncle is the Amar's
maternal uncle. Thus, the Girl's mother is Amar's Aunt.

Question (8)



Direction (8-10) : In question no 8 te 10, select
the missing number from the give responses.

o1 (8-10) : wo7 w=wm 8§ 10 ¥, faw o faweai &
T faem T g

4
9
5

11

| | | ba
| & S| W
| ba| | G

(a) 8 B 9
(C) 10 (D) 11

Correct Option : B

Explanation :
2x4-3=5

3x4-6=6
4x5-9=11
6x2-3=9

Question (9)

(A) 24 B 32
(C) 36 (D) 28

Correct Option : C
Explanation :



480
6x8x10=480p — =48

10
6x5=7=120 120 12
. = = — —
" To
360
9xH8x5=360 —— =36
10
Question (10)
/52
&
(4) 960 (B 1000
(C) 600 (D) 1260
Correct Option : C
Explanation :
6 x5 =
l 1l t

Question (11)



A dog runs 20 metre towards East, turns
Right and runs 10 metre, again turns to
right and runs 9 metre, then again turns to
left and runs 5 metre and then turns to left
and runs 12 metre and finally turns to left
and runs & metre. Now which direction dog
is facing?

TF H TE F AW 20 . 96w £, T g4 & 60
10 . = #1 fFT 20 gga 2 @i 9 i, = 2
A fifT =0 A # o 5 i, sem # R e an
HEdl & a4 12 9. Sea & 3R saa: 9 g2 g i
6 . wE 71 39w w1 gF fwe T g g2

(A) East/H (B)] North/3w

(C) West/qfF=m (D) South/=f&m

Correct Option : B
Explanation :

A B

g v10

D G
5{ c }E
E

12 F

Now, dog is facing North.

Question (12)

How many points will be on the face opposite
to the face which contains 1 point?

1 forg =1 e % fardie e T T fEe T w

(A) 2 (B) 4
(C) 5 (D) 6

Correct Option : D
Explanation :



From dice 1 and dice 4.

Digit (Top) [3[1]2
Digit (Bottom) |5 | 6 | 4

So, when 1 is on the top, 6 at the bottom.

Question (13)

Directions (13-14) : In the following questions, a series is given with one terms
missing. Choose the correct alternative from the given ones that will complete the series:

forder (13-14): FreTai@e weal #, ve oo o 2 & ot v g oo 3| e arw fsedt § d 9
e Rwed g st 3regwa T U |
198, 194, 185, 169, ?
(A) 92 (B) 112
(C) 136 (D) 144
Correct Option : D
Explanation :
The pattern is -4, -9, -16, ..... i.e. =27,

=35, -42, ...
So, missing pattern = 169 — 5° = 169 — 25 = 144.

Question (14)

3,15, ?, 63, 99, 143
(A) 27 (B) 35
(C) 45 (D) 56

Correct Option : B
Explanation :

(22= 1), (4%=1), ..., (8= 1), (10F=1), (122 - 1)
So, missing term = (65— 1) = (36 - 1) = 35.



Question (15)

Ayush was born two years after his father's marriage. His mother is five years younger than his
father, but 20 years older than Ayush, who is 10 years old. At what age did his father got married?

3T BT S =T AT o FAaTg & 2 I avelTc] §31 21| 36T AT 38 a1 & 5 9§ oI &, ] 3w
¥ 20 IY T &, ST 10 Al T | 38k AT b1 fayare foherclr g & garm am?

(A) 23 years/a¥ (B) 25 years/ay
(C) 33 years/@¥ (D) 35 years/d¥

Correct Option : A
Explanation :
Ayush's present age = 10 years.

His mother's present age = (10 + 20) = 30 years Ayush's father's present age = (30 + 5) = 35 years
Ayush's father's age at the time of Ayush's birth = (35 — 10) = 25 years.

Therefore Ayush's father's age at the time of marriage = (25 — 2) = 23 years

Question (16)

Which of the following diagrams indicates
the best relation between Horse,
Carnivorous and Tiger ?

e & 4 F-t g e, giEE 9 9= 9
T 3w 27

@) @ ®
(©) o (O)o

Correct Option : D

Explanation :
Tiger is carnivorous, but Horse is herbivours.



Question (17)

Directions (17): A statement is given followed
by two conclusions I and II. You have to
consider the statement to be true, even if they
seem to be at variance from commonly known
facts. You have to decide which of the given
argument, if any, follow from the given
statement.

fdmr (17): U= e T mar &, forrer s = frend
1A & snusi e s fF s v §, 9 9y
A FW e | Taw wem g g o o
w0 & T fau o el # | wE-m fafvem wu @ fao
T wEHE g WE e €, @i =i En

Statements /[F9T:

All cars are cats. /34 w1 fafeemt 51

All rats are cats, /@4 =98 fafeemt €1

ﬂnnclusinnsfﬁ'ﬂn‘ﬂ’:

I.  All cars are rats. /&4t TR T 2l

II. Some rats are cars. [9@ T@* L

{A] Only conclusion | follows/
Fae e | A & g
(B] Only conclusion II follows/
Fad frewd [ s @ F3a 2
(C) Either conclusion I or II follows/
1 A feRe [ I S =4 g
(D] Meither conclusion I nor I follows/

F o ferd [ 9 5 11 S % £

Correct Option : D

Explanation :
Cat II. =

Meither [ nor II follows.



Question (18)

Arrange the words given below in a meaningful sequence.
ToTeT Qrea aheh! Teh AT v H gafeud Y]

1. Study/3TEIg«T

2. Job/ater

3. Examination/a{r&r

4. Earn/&dATS

5. Apply/3TTacsT &eT
(A) 13,25 4
B)1,2,3,4,5
(©)1,3,5,2,4
(D) 1,3,5,4,2

Correct Option : C

Explanation :
1®3®5®2®4

Question (19)



From the given answer figures, select the
one in which the guestion figure is
embedded.

& W I A § W, 39 aEE H i fand
W #AFE A= B
Question figure /Wy ATFH:

/)

Answer figures /377 3T=fa:

I
22N

() (B) (C) (D)

Correct Option : B

Question (20)

Find the number of triangles in the given
figure.

e T, st % Tl ®1 WEm JW S
(A) 8 B 10
(C) 11 (D) 12

Correct Option : B
Explanation :



F

Simple triangles are ABG, BCG, CGE, CDE,
AGE and AEF i.e. 6 in number.

Triangles composed of two components each
are ABE, ABC, BCE and ACE 1.e. 4 in number.
So, there are 6 + 4 = 10 triangles in the figure.

Question (21)

Choose the correct water image of the given
question figure from amongst the four
alternatives.

fou m aw fawedl § 9 v ARG T HE 9
Hiafama F1 =997 Fi

Question figure /Uy & :
X _H
)
Answer figures /97 TeRfaAl :
=) s | [ & )
X BAlBE XX &8a]lX H
(4) (B) (C) (D)

Correct Option : C

Question (22)



Identify the figure that will complete the
pattern.

FH A F TEEH W G H @ )
Question figure /Wy 3TF :
2 o
D{} Gﬂ
GDG .
Answer figures /397 T/=Rfoal :
Dﬂ Dﬂ GQ D{}
0 O o G
(A) (B) (C) (D)

Correct Option : C
Explanation :

< o
OG C}D
&) &
O °

Question (23)

Find out from amongst the four alternatives
as to how the pattern would appear when
the sheet is folded at the dotted line.

iz &I e TE W HEA W fiEe 9w s =\
faed o @ =atm +H)
Question figure /W9 3R :

Answer figures/ 397 3TTRfaAl :

SRISEags

@w  ® @ D




Correct Option : B

Question (24)

Select the alternative in which the specified
components of the question figure can be
found.

IH WA A B G i, fEE v o
forga A UE W G
Question figure /79 T :

Y
v3©
Answer figures /377 il :
AKX
{[W|10z2]4 elo”

(A)

(B (C) (D)

Correct Option : A

Question (25)



A word is represented by only one set of
numbers as given in any one of the
alternatives. The sets of numbers given in
the alternatives are represented by two
classes of letters as in two matrices given
below. The columns and rows of Matrix-I are
numbered from 1 to 4 and that of Matrix-II
are numbered from 5 to 8. A letter from
these matrices can be represented first by
its row and next by its column. E.g., 53" can
be represented by 13, etc., 'D' can be
represented by 76 and ‘M’ can be
represented by 57 etc. Similarly, you have
to identify the set for the word ‘CAMP.

TF Y thae UF GEA-09F W S9E g, S
T faredl 6 9 Tt war o o 7 21 ol o fom
U HEA-aE A % 91 = g geie Ty, S
= fou 0 5 e ° ¥ AegE-1 % w9 S ufaE
FEE | H 4 F AN ATE-IIFT 5 H8IH
ST € UF S F TR ST T 30 A §
T B 29 | WAl B1 3SR # fe ST 13,
SO T S wHA D' H 76, S 90 W A
@4 M’ ® 57 B S W gl 2| 36 @E 9,
9] 1% ‘CAMP' & oy g o =1 w99 2
Matrix-1/3T=fg-1 Matrix-1I/ #T=Tg-11

112)13|4 56|78
1{AM|S|D SIA|C|M|P
2ISsM|A|D &|ClA|D|P
3IM|D|A|S TIC|D|P |8
41AM|S|D BElAIM|C|P
(A) 65,23,12,32 (B) 75, 86, 32, 68
(C) 87,11, 31,68 (D) 56, 88, 31, 58

Correct Option : C

Question (26)

In the Mahayana Buddhism, the Bodhisattva Avalokiteshvara was also known as:
HEIIT SigH &3 H ‘Hqelifohcl?d SIfIdcd’ & T H HleT SATAT AT?

(A) Vajrapani/asrarofr

(B) Manjusri/ASI#T

(C) Padmapani/ TeATITofr



(D) Maitreya/H3g

Correct Option : C

Question (27)

Which one of the following is the largest Committee of the Parliament?
fAfFra@d # @ Fug $Hr gad a1 FfAfa 8-

(A) The Committee on Public Accounts/

ol or@r |fafd

(B) The Committee on Estimates/

Terhotel AfATY

(C) The Committee on Public Undertakings/

(D) The Committee on Petitions/

e gfafa

Correct Option : B

Explanation :
The largest committee 15 the committee

of estimates and 1t has 30 members

Committee on No. of members
Public Accounts 22
Estimates 30

Public undertakings 22
Petitions L=(15), BR5(10)

Question (28)

Which Bollywood actress has been bestowed with the 2016 ET Panache Trendsetter Award?
T sfeligs 31T &l 2016 SE Felal Torel JIEHR & FFATTA fohar aram §2




(A) Deepika Padukone/&IfashT drgehroT
(B) Aishwarya Rai/Qea3T I
(C) Sonam Kapoor/&leTd &Y

(D) Priyanka Chopra/foierT aiasT

Correct Option : C

Explanation :

Bollywood Actress Sonam Kapoor has been bestowed with the 2016 ET Panache Trendsetter
Award in Mumbai, Maharashtra. Beside her, Vijay Shekhar Sharma, Kavin Bharti Mittal, Bhavin and
Divyank Turakhia, Dipa Karmakar, Devendra Jhajharia, Ananya Birla, etc., has been honoured with
the award. The award recognizes the efforts of entrepreneurs, innovators, newsmakers and athletes
whose stories inspire millions and whose services transform lives. Each winner is harbingers of
change, driven by professional passion, personal elan and a commitment to quality

Question (29)

Two seas or water-bodies connected by a narrow stretch of water is known as a
el HHGT AT SToT folehral T STgeT dTel STef o Heh1oT faER ol T gl &2

(A) Bay/@rst

(B) Strait/STelsHSHET

(C) Peninsula/STaeardra

(D) Isthmus/FTelsHTHET

Correct Option : B

Explanation :

A strait is a narrow, typically navigable channel of water that connects two larger, navigable bodies
of water. It commonly refers to a channel of water that lies between two land masses, but it may also
refer to a navigable channel through a body of water that is otherwise not navigable, for example,
because it is too shallow, or because it contains an un-navigable reef or archipelago.

Question (30)



The 2017 Indian Science Congress (ISC) will be held in which of the following states?

R AT T (3TSTaa) 2017 &, Aefaf@a & ¥ 5w T & 3mafaa fFar sreen?
(A) Odisha/3nf3em

(B) Karnataka/@siTeeh

(C) Kerala/&Te

(D) Andhra Pradesh/31Ter ge2r

Correct Option : D

Explanation :

The 104th edition of Indian Science Congress (ISC) 2017 will be held at the Sri Venkateswara
University in Tirupati, Andhra Pradesh from January 3rd to 7th, 2017. In the 2017 ISC, 9 Nobel
Laureates from the United States, Japan, France, Israel and Bangladesh would attend the event and
share their experiences. In addition to this, a huge contingent of 200 scientists from foreign nations,
10,000 scientists representing various national laboratories, faculty and research scholars from
Indian universities and several others will take part in the event to exchange their views on a range
of scientific issues, both on national and international level.

Question (31)

Which of the following "group of elements" is responsible for origin of life on earth?
AFATITET H & HleT- “Teal T THE” ERCA T SIde & 36IH o ToIT STerRT 82
(A) Hydrogen, Oxygen, Sodium/

gTEIatd, JiaaTd, |fsaH

(B) Carbon, Hydrogen, Nitrogen/

(C) Oxygen, Calcium, Phosphorous/

(D) Carbon, Hydrogen, Potassium/

TSI, gTSgIoTe, are iR

Correct Option : B



Question (32)

Who was the Governor-General of India during the Sepoy Mutiny?
RaTéY fagie & eTeT 9TRA & 1= SAeiel T 272

(A) Lord Canning/dts shfaar

(B) Lord Dalhousie/alTS SeTglsir

(C) Lord Harding/dIts grfser

(D) Lord Lytton/aTs forest

Correct Option : A

Explanation :

Revolt of 1857 is referred as Sepoy Mutiny by many historians. After the mutiny Lord Canning was
made the Viceroy and power was transferred from the East India Company to the British crown by
Act of 1858.

Question (33)

Which of following charcoal is used to decolourise sugar?

fArAfaT@a & & Sld-a1 IRFI AT A TEA FATa1 & T SEAATS FoRT ST 82
(A) Wood charcoal/eTsa aRehTel

(B) Sugar charcoal/di=ir TRehrel

(C) Animal charcoal/Sic] TRehlel

(D) Coconut charcoal/ATRIe TR

Correct Option : C

Question (34)

Long-term funds in the capital market can be raised either by borrowing from certain institutions or



through?

Yol TR & ofdlt 37afer o fAfer & fov o e deumEt a1 e sur form s g2
(A) Issue of note/dTe STRT HT

(B) Taking loan from Government/aIeh & 0T ala

(C) Issue of securities/ITcreffcrar & ST T

(D) Taking loan from foreign institutions/facel TEATAT & F0T ol

Correct Option : C

Explanation :

Capital markets provide for the buying and selling of long term debt or equity backed securities.
When they work well, the capital markets channel the wealth of savers to those who can put it to
long term productive use, such as companies or governments making long term investments. Capital
Markets allow businesses to raise long-term funds by providing a market for securities, both through
debt and equity. Capital markets offer a whole range of complicated products which allow
businesses and banks not just to raise capital but also to 'hedge' (protect) against risks.

Question (35)

Consider the following ecosystems:
Arfafad oiRfEufas dF 91 faar

1. Taiga/&am

2. Tropical Evergreen/3SuTeh{catiiT HElEgR
3. Tropical Deciduous/3suTehfeaeir quiarclt

4. Tundra/ggr

The correct sequence in decreasing order of the Albedo values of these ecosystems is:
g1 TR e ot o i & forvoit i AT o Tred gU &9 & AeY shad &-

(A)1,4,3,2

B)4,1,3,2

©4,1,2,3

(D)1,4,2,3



Correct Option : C

Explanation :

The average albedo of earth is 34%. It varies according to the colour and texture of the surface.
According to the ecosystem, the maximum albedo would be of Tundra, than Taiga, then tropical
green forest and tropical deciduous forest respectively.

Question (36)

If a Panchayat is dissolved, elections are to be held within:
T 79T glel OR, AT hiarT SATell &-

(A) 1 month/1 HgeT &

(B) 3 months/3 AEIA &

(C) 6 months/6 HgI &

(D) 1year/1a¥ &

Correct Option : C

Explanation :

Duration of Panchayats is five years. Fresh election to constitute a Panchayat shall be completed
before the expiry of its term; or in case of dissolution before the expiry of a period of 6 months from
the date of its dissolution.

Question (37)

What was the theme of 2016 World Food Day (WFD)?

foreg @y fead 2016 &1 fTaw a/T 2172

(A) Social protection and Agriculture/TTerel HI¢ae U8 Taidheal

(B) Feeding the world, caring for the earth/®ISeT g g3, FIRIT & 37T

(C) Climate is changing Food and agriculture must too/ FellSHE T dToial {5 TS Ualiehoo AEC T

(D) Family Farming: Breaking the Cycle of Rural Poverty/thf&elt BIfiaT: §TahaT g ATSeher 3iTh Tl
qraef



Correct Option : C

Explanation :

The World Food Day (WFD) is observed every year on October 16th to mark the foundation of Food
and Agriculture Organisation (FAO) of the United Nations in 1945. The global message for WFD
2016 is "Climate is changing. Food and agriculture must too".

Question (38)

Consider the following minerals:

ot @fast X AR =%

1. Calcium/HfeerasT

2. Iron/aiig

3. Sodium/afsaH

Which of the minerals given above is/are required by human body for the contraction of muscles?
IR T T WS & SleT-a1 @iast Al R & AAIRIAT & Tepe o foIv 3maege g2
(A) 1 only/&ae 1

(B) 2 and 3 only/ehdeT 2 31X 3

(C) 1 and 3 only/&ad 1 31X 3

(D) 1,2 and 3/1,2 31X 3

Correct Option : C

Explanation :

Calcium is the most common and abundant mineral in the body. It is important for healthy bones and
teeth, helps muscle relax and contract, important in nerve functioning, blood clotting etc. Sodium is
needed for proper fluid balance, nerve transmission and muscle contraction.

Question (39)

What Constitutional provision enables the Central Government to provide reservations in jobs and
educational institutions for the weaker sections of the society?



PiT-AT G UTTTeT Shog, AIFR hT HHA 937 o ToIT AlnRAT 3N FRALTOT TEATAT 3 37RETOT S T
3SR et FIAT8?

(A) Article 14/31Tede 14
(B) Article 16/37J<85¢ 16
(C) Avrticle 46/37T<05G 46
(D) Article 19/37Te55¢ 19

Correct Option : B

Question (40)

Match List-1 with List-II and select the
correct answer using the codes given below
the lists:

Tel-l F1 gAl-1l ¥ gofem F 7= fau o g &
Tt 4 AR F2 F ST FE T I F T
el
List-1/ %=1 List-11/g=-11
(Minerals)/ (Mining area)/

i IR | i 4

a. Graphite/U%Ez 1. Bellary/dan
b. Lead/#E 2. Didwana/st=amm
c. Salt/dr= 3. Rampa/7m@0
d Silver/faFt 4. Zawar/ 9=
Codes:

a b e d
A 3 4 1 2
B 1 4 2 3
3 1 4 2
D)2 3 1 4
Correct Option : B
Explanation :
Minerals Mining area
Graphite @ Bellary
Lead ® Zawar
Salt @ Didwana
Siler @ Rampa



Question (41)

Birds usually have a single
AT G AT glarg]
(A) Kidney/dereh

(B) Lung/®sT

(C) Testis/dIy

(D) Ovary/3781erT

Correct Option : D

Explanation :
Female birds in most families have only one functional ovary (the left one), connected to an oviduct-
although two ovaries are present in the embryonic stage of each female bird.

Question (42)

Why did Muhammad Bin Tughlaq change his capital from Delhi to Hyderabad/Deogiri?
HEFAC TaeT JaTeleh & 39T TAsTeiTelt feeel & Seere gedrare/eafanT T &f ST AT?
(A) Because he wanted to improve trade in Deccan/

FifeR aF Sadhet 7 SATIR H GUN FLAT ATET AT?

(B) Because he wanted to spread Islam in the Deccan/

Fifh I SFhed H STATH FT TAR AT ATl AT

(C) Because he wanted to punish the people of Delhi/
Fifh a8 ool & AN Y &S FHIAT ATEAT AT

(D) Because he wanted to escape from Mongolian invasion/

Fifeh g HINTeIATS HTHAUT H ST ATgdT AT

Correct Option : D



Explanation :

) In 1327, Tughluq passed an order to shift the capital from Delhi to Deogiri/Daulatabad (in present-
day Maharashtra) in the Deccan region of south India. Tughluq said that it would help him to
establish control over the fertile land of the Deccan plateau. He also felt that it would make him safe
from the Mongol invasions which were mainly aimed at Delhi and regions in north India. Also, it was
not always possible to operate an army from Delhi for the occupation of Southern states.
Muhammad-bin-Tughlag himself had spent a number of years when a prince in occupying and
guarding the southern states during the rein of his father

Question (43)

Which one of the following Indian banks is not a nationalized bank?
AT 7 & ieT-a1 HRAT b S Teh ASEIehT sieh oT61 o2

(A) Corporation Bank/6RAR2 S&

(B) Dena Bank/&aT S

(C) Federal Bank/%s{eT S&

(D) Vijaya Bank/fasrar d&

Correct Option : C

Explanation :
Federal Bank is a major Indian commercial bank in the private sector, headquartered at Kochi,
Kerala.

Question (44)

"Shenzhou-11" a manned spacecraft has been successfully launched by which country?
“ATSS-11" Teh HATATYFcl ITARET TTef el deh fohd 2T SaRT Y&l feham aram g2

(A) North Korea/3aX shifar

(B) Japan/STdreT

(C) Russia/&d

(D) China/de



Correct Option : D

Explanation :

China has successfully launched its longest-ever manned space mission "Shenzhou-11" spacecraft
into space by a Long March-2F carrier rocket from the Jiuguan Satellite Launch Centre near the
Gobi Desert, China. The two astronauts will stay in space for 30 days to test complex's ability to
support human life. They will also conduct medical and scientific experiments. The purpose of the
mission is to dock with the Tiangong-2 space laboratory and gain experience from a 30-day
residence and to test its life-support systems.

Question (45)

1 Carat of diamond is equivalent to:
ER T 1 HE FHAJD -

(A) 100 mg/fAar.

(B) 150 mg/f&am.

(C) 200 mg/f@ra.

(D) 250 mg/f&aT.

Correct Option : C

Question (46)

When the total production rises at an increasing rate, then
ST el 3CUTE TEAT g% & A T&h &,

(A) Marginal product is zero/EHId 3cU1E T BT &

(B) Marginal product is rising/&HTd 3c9TE 96T &

(C) Marginal product is falling/&#Td 3cure AT &

(D) Marginal product remains constant/E&ATd 3tle, Tdd AT 8l &



Correct Option : B

Explanation :

Marginal product of an input (factor of production) is the extra output that can be produced by using
one more unit of the input (for instance, the difference in output when a firm's labour usage is
increased from five to six units), assuming that the quantities of no other inputs to production
change. Marginal product, which occasionally goes by the alias marginal physical product (MPP) is
the one of the two measures derived from the total product. The other is average product. Marginal
product is directly proportional to total product.

Question (47)

The Constitution of India recognizes:

R T Wit T S 8-

(A) Only religious minorities/

Shadl YT ICTHEIRT I

(B) Only linguistic minorities/

el HIVTS FeUTEIh! T

(C) Religious and linguistic minorities/
enTfier AR TS HeaaEda! &l

(D) Religious, linguistic and ethnic minorities/

TR, HTVTS R ST 3eTHET T T

Correct Option : C

Explanation :
The Constitution of India recognizes religious and linguistic minorities under article 29 and 30
(Cultural and Educational rights). However it does not define the term Minority.

Question (48)

The work done by the string of a simple pendulum during one complete oscillation is equal to

Teh qUT &lelel o GRTeT Hel wieTeh & R GaRT fehdl 1T 1l fohdreh HATeT 572

(A) Total energy of the pendulum/eiTeTsh T el Fil



(B) Kinetic energy of the pendulum/aTeles T ITfasT ol
(C) Potential energy of the pendulum/ateres 1 ATt T

(D) ZeroR[=a

Correct Option : D

Explanation :

Work done by the string of the simple pendulum during one complete oscillation is zero. Tension in
the string exactly cancels the component parallel to the string. This leaves a net restoring force back
towards the equilibrium position as it is equal to zero.

Question (49)

Virus in a computer is a:-

YT H IIILH FIT {1l 672

(A) Chemical that attacks silicon/

T St RfSIehleT UX 3MTehaoT el B

(B) Micro-organism that disturbs integrated circuits/
&H Sha it fedes Afdhe 3 o sTere &

(C) Programme that damages the computer software/
ST S e WFeR Y 47T e 8]

(D) None of the above/

$TH A I AET

Correct Option : C

Question (50)

The polymer obtained by the condensation of hexamethylenediamine and adipic acid is:

graTfAATSTAAsS A 3R a8 31 & el ¥ ITed qgﬂeh’e"




(A) Nylon 6,6/=TTIell 6,6
(B) Terylene/cRfelsT

(C) Tollens/erelca

(D) Bakelite/S&helise

Correct Option : A

Question (51)

Fresh grapes contain 80%, while dry grapes contain 10% water. If the weight of dry grapes is 250
kg, then what was its total weight when it was fresh?

TSI 3R # 80% STaIfeh seh IR #H 10% dIer 8] Afe; S I AT doTed 250 haT. &, oY HhT Fel doiel
T AT, S g dlall AT?

(A) 1000 kg/fera.
(B) 1125 kg/ferar.
(C) 1225 kg/fha.
(D) 1100 kg/feRa.

Correct Option : B

Explanation :
Quantity of water in 250 kg dry grapes,

& 10 0

=5 7005 * 250 =25 kg

Then, pulp of grapes = 225 kg
We get 20 kg pulp in 100 kg fresh grapes.
To get 225 kg pulp , we need fresh grapes,

100" 22546
= Sm =1125kg.

Question (52)

The largest and the smallest angles of a triangle are in the ratio of 3 : 1 respectively. The second
largest angle of the triangle is equal to 44°. What is the value of 150 percent of the largest angle of



the triangle?

ToralY T87oT oh 3HTRIhCTH AT =gTcTH HI0T T IeTUTel haAel: 3:1 | ST & gax Hallftreh HioT 7 AT
440 & ST & T38[eT o 3HTRIhcTd 0T & 150 FTcT2rel T HIeT FT 82

(A) 149

(B) 129

(C) 153

(D) 173

Correct Option : C
Explanation :
Let largest angle = 3x

smallest angle = x

second largest angle = 44°
Ix+x+44 =180

4x+44 =180

4x=136

x=234

Largest angle = 3x =3 = 34 = 102°
150% of the largest angle

_ 102" 150

100 =153

Question (53)

Find the simplest value of 2./50 + J18 -
J72.

2./50 + 18 - f72 ¥ TwEE 90 96 =)
(A) 10.312
(B) 4.242
(C) 9.898
(D) 8.484

Correct Option : C
Explanation :



250 * 18 - 72 = 1042 + 342 - 642
= 72

=7 =1414
= 0.898

Question (54)

A right angled triangle with sides 3 cm,
4 cm and 5 cm is rotated at the side of 4 cm
to form a cone. The volume of the cone so
formed is:

3 Wl 4 T, qW 5 WA, g A R wwm
faq= =1 4 9. 9= W viE 399 F {0 e =
21 76 YEN ¥ 9 T F1 @G 54 27

(A) 121 cm?/¥HE

(B) 15m cm3/#HE

(C) 16m cm?®/#HE

(D) 20m cm3/ ¥R

Correct Option : A
Explanation :

Radiug = 3 em

Clearly, we have r=3 cm and h=4 cm.

1 &l - &
=—pnrh=c— T 3% 4== 1
5\ Volume 3pr‘h 3 - 12p em

Question (55)



If ¥ 1066 is divided among P, Q, R and = such
that P: 0=3:4,Q:E=5:6andR:5=7:5,
then who will get maximum amount?

% T 1066 P, Q, R 941 S § T6 W =izl 9l &

fFP:0=3:4,0:R=5:63 IR:5=7:5%,

Al frd Afiaan ofn foeit?
A) P B Q
iC) R (D) S

Correct Option : C

Explanation :
Take P = x.
Th _ dx R_24x S_Ex
enQ=3 k=157 7
So,P+Q+R+5=1066
2z dx 24x Bxo
+—+3+——+ =L _
B gX 3 15 7 1066
On simplifying, x = 210.
Accordingly,
P=210
Q=280
R =336
5 =240

So, R gets the maximum.

Question (56)

Fornumbersaandb, itis defined asaxb=(a
+ b + (a - b, then the value of ({1 = 2) » 3 is:
fFii g ad bd, axb=(a+h)+(a-h)
Fuifia fan T 2, 40 (1 % 2) % 3 & AF B-

2

1
(A -3 B -z

1
(© o D) 3

Correct Option : C



Explanation :

b a+bb1 9 1+ 2 3
= = —— A — e R
laxb) =275 1-2
Now,~3x3= =2 -0

- % A= =
ow, 3-3

Question (57)

If O is the circumcenter of a APQR and
LQOR=110° £0FPR =25°, then the measure
of #PRQ 1s:

af% vk APQR =1 WfiE= O 2 3 ZQOR = 110°,
ZOPR = 25° 2, 1 /PRQ %1 919 41 87

(A) 50° B) 55°

(C) 60° (D) 65°

Correct Option : C
Explanation :

8QOR = 110° aQPR = 55°
OR = OFP ¢ 80PR = 8PRO = 25°

70
OP = 0Q b 80QR » 8ORQ = —- = 35°

8PRQ = 8FRO + BORQ
=25°+ 35" = 60°

Question (58)



x and y are positive integer and they are
inversely proportional. If xincreases by 10%,
then y decreases by:

X W1 y U 94 i F R 3 fawiE el 2
A% x F 10% =91 o 5 2, 4 y F fan wawa
=9 fFa sm?

10

(A) 10% B 7%
100, 1

€ S % (D) 7%

Correct Option : C

Explanation :

For inversely proportional numbers, the
product of the number must always be
constant, if all other conditions are the
same.

Let x and y be both 10, then

xy = Constant

¢ 10 =10 = Constant

If x increases by 10%, then the new value of
xwill be 11. And the product of x and ywill be
110. But product of x and y should be constant
(100 in this case.] Then y should be decrease

to keep the product constant. Now,

xy=100
11y=100
100

11
And in percentage terms

1_310 1000
e T 100 ¢ 10 1 100 < 199,
E——0— u= =@gTIH ¥ =
¢ 10 E110H 11
u

Question (59)



1 1

The val f = is:
€ vame o cosect—cot8  sinB s
1 1
—_ ﬂ-j—l' I“:[ -
cosect—cotf  sinB #
A) 1 (B] cosecH
(C) cotB (D) tan @
Correct Option : C
Explanation :
1 . cosecq fcosg 1

cosecq—cotq CcosecqtCosq sing
I cosec g + cot g — cosec g
=cot g

Question (60)

A computer typist types a page with 20 lines
in 10 minutes but he leaves 8% margin on
the left side of the page. Now he has to type
23 pages with 40 line on each page for which
he leaves 25% more margin than earlier.
How much time is now required to type these

23 pages?
UF e arEfie fad e H1 10 fFe 20 @
F1 T FAA F, WET 9% TN F A AT W 8%
wifSA S5 30 81 374 39 23 99 F 29 FE ¢ @
e U9 o 40 WEF € 991 390 9% e § 25%
s Wi i@ 21 3" 39 39 23 el i e
F % fou frad 999 51 A9EFa o7

2

1
(A) 73 hrs/Te (B) T3

hrs/=v2
1 . .
IC) 235 hrs/=72 (D) 3.916 hrs/=%

Correct Option : A
Explanation :



Assuming every line has 100 characters.
B with 8% margin, the total number of
characters written in one line is 100 - 8 = 92
Time taken to write 20 lines is 10 mins
P time taken to write 1 line = 92 characters

= 10 &
®¥92" 200

Now, when the margin is increased by 25%
P new margin 15 8 + 0.25 = 8 = 10

F number of characters per line now = 90
Total number of characters to be written
= number of characters per line * number of
lines per page = number of pages=90 x 40 x 23
Total time required = Total number of
characters x time required to type one
character

2 10 o
= (90 x 40 x 23) x g — 2
(90 x 40 x 23) % ¢ 55204

=450 minutes

=7 hours and 30 minutes

Question (61)

If the numerator of a fraction was increased
by 350% and the denominator of the fraction
is increased by 300%, then the resultant

9
fraction is 23" What is the original fraction?
afs Tl fom & #iw =1 350% ==1 o = € @

fo= = &0 = 300% =91 5@ = #, 9 W= fa=
9
E%) HEGRL S &

3 5
@ 3 B 3
7 4
© 3 D) 13

Correct Option : D
Explanation :



x
Let fraction = E

® . 45006
x —
¢ 100*_ 9
ATQ. ¢—400-~ 22
€Y Tooo
x4
P = = —
y 11

Question (62)
1
If x=3 + 242, then the value of »* + = s
. 1
M x=3+ 22 B A E+ — FAA E-
x

(&) 30 (B) 32
(C) 34 D) 36

Correct Option : C
Explanation :

1
*x=3+2f2 px+ — =6
a
1 ® la )
—=3-2/2 pgx+— -2-62-2
X x e

Question (63)



A motor starts its journey with the speed of
70 km/h, its speed increases by 10 km/h
in every two hours. In how many hours will
it cover a distance of 345 kms?

FIE T 70 fEdLAm =1 0fF § o o g
FA1 B, Wew 51 5ve # gEe A 10 LA ww
T €1 345 TR =1 3 9% fEe W o m woi?

(A) 2% hrs/972  (B) 4% hrs/qvd

1 . 3 .
(C) 45 hrsf=m2 (D) 23 hrs /=

Correct Option : B
Explanation :
Distance covered in first 2 hrs
= (70 = 2) = 140 km
Distance covered in next 2 hrs
= (80 = 2) = 160 km
Remaining distance
=345-(140 + 160) = 45 km
Speed in the fifth hour = 90 km /hr
Time taken to cover 45 km = as speed 1s 90
km /hr means it covers 90 km in 1 hour

1
b45km=§hr

1
Total time taken = 2 + 2 + = 45 hrs

1
2

Question (64)

If x and y are positive real numbers and
xy = 8, then the minimum value of 2x + yis:

A% x A9 y oS anEtaE HE € Ay =8 €,
@ 2x + y T =AY TH 2-

A) 8 B) 9

{C) 10 (D) 17

Correct Option : A



Explanation :

xy = 8 possible value of (x, y) = (1. 8) (2, 4)
(4, 2) (8, 1)
when (x, y)=(1,8) 2x+ y=2=1+8=10
x. ) = (2,4 =2x+ y=2=2+4=8¢8
minimum value
[x.y)=(4.2)=2x+y=2=x4+2=10
(. yj=(8,1)=2x+y=2=8+1=17

Question (65)

The batting average of 40 innings of a
cricket player is 50 runs. His highest score
exceeds his lowest score by 172 runs. If
these two innings are excluded the average
of the remaining 38 innings is 48. His
highest score was:

el Teeiara & 40 WiE &1 ##E 50 ™ 81 356
HAfiFas L 39 <aH =R E 172 T #@faw 2
afz =7 =H WifE =1 =1 5 =, & ¥ 38 Wi
w1 3EA 48 81 IHHT AFHAT T G-

(&) 172 B 173

[C) 174 (D) 176

Correct Option : C
Explanation :
Total runs scored by the player in 40

innings = 40 = 50
Total runs scored by the player in 38 innings
after excluding two Innings = 38 = 48
Sum of the scores of the excluded innings
=40 = 50-38 = 48 =2000- 1324 =176
Given that the scores of the excluded innings
differ by 172. Hence let's take

the highest score as x + 172 and lowest score
as x

Nowx+ 172+ x=176
FE2x=4

b3 | s

Bx= =2

Highest score=x+ 172=2+ 172 =174



Question (66)

A contractor employed 25 labourers on a job.
He paid ¥ 275 for the work. After retaining
20% of this sum, he distributed the
remaining amount amongst the labourers.
If the number of men to women labourers
was in the ratio 2 : 3 and their wages in the
ratio 5: 4. What wages did a woman labourer
get?

TF Fa T+ + fom 25 oed =1 m=m T
I% M & fomg § 275 &1 TAE fFa w1 afm #=
20% TRFL TE F TFEN I U H TEgd o
famtm &1 feam =fz gFw a1 wfeen g=gd *1 g
T ATIE 2 : 3 o T I Hogd F ATIE 5 4
o1\ Hfeen goE F1 THaA gegd fo=?

(A) 10 B) T8

(C) T12 (D) T15

Correct Option : B

Explanation :
2
Men 25 x — =10
3
3
Women 25 = 5 =15

Wage each man 5x

Woman 4x

20% of amount retaining = 275 = 20% = 55
Remaining amount = 275 — 55 = 220

Bl0 x 5x+ 15 = 4x = 220

B110x = 220

B x=2

Wages of women =4x=4x2=378

Question (67)



From a point P on a level ground, the angle
of elevation of the top tower is 30° If the
tower iz 100 m high, then the distance of
point P from the foot of the tower is:

ot = % Tt fag @ dFR =1 319 =0 30° 2
afz #=n 100 . %41 ¢, 9 fag P %1 9 ° 10
=1 7

{A) 140 m /7.

(B) 156 m /7.

(C) 173 m/t.

D) 200 m /7.

Correct Option : C

Explanation :
Let AE be the tower

B
=
30° -

P A

Then, 8AFB = 30° and AB = 100 m

AB L
Ap _ransblt=Tn

»AP=(AB * f3)m

10043 m
(100 = 1.73) m
=173 m

Question (68)



A train running at the speed of 20 m/s
crosses a pole in 24 seconds less than the
time in requires to cross a platform thrice
its length at the same speed. What is the
length of the train?

20 WA 51 T @ e € T e am e
T F U FH o G99, IO M0 | =Gt 5
EE w1 A A A T e ® wEE # I
F § o a1 G99 4 24 THUS %9 8| WWE B
T 7

(A) 270 m,. (B) 340 m/i.

(C) 180 m. (D) 160 m/.

Correct Option : D
Explanation :

Let the length of the train be xm
So, the length of the platform = 3xm

4x

Time taken in crossing the platform = 5 sec

x
Time taken in crossing the pole = 50 Se¢

X e o160
b?l] = 30 Ex= m

Length of the train = 160 m

Question (69)

A piece of cloth costs ¥ 35, If the length of
the piece of cloth would have been 4 m longer
and each metre costs ¥ 1 less, then the cost
would have remained unchanged. How long
is the piece of cloth?

folt F92 =1 ZHE =1 959 ¥ 35 ) A SHE =g
4 i, s Sl @en 9ia Hie % 9Ed T 1 H9 e,
Al T 59 Aiatad T Fusl T e o €2
(A) 14 m/H (B) 10 m/H.
(C) 12 m/™. (D) 9 m/.

Correct Option : B
Explanation :



Let the length of the cloth be xm
mnerefore,

cost of 1 m cloth = —
x

AT 35 1= 35

Q’x_ T ox+ 4

35 35
x x+4

35x+ 140-35 _
B Xxt 4) =lex+4x—-140=0
Blx—10) [x+ 14)=0
Bx=10
% The length of the piece of cloth = 10 m

Question (70)

In an isosceles triangle, if the unegqual
angle is twice the sum of the equal angles,
then each equal angle is:

ot wmfgarg e o, afs sm9m & o699 F=0f &
TR F1 P E, A Wedw WA F 0 a0 g
(A) 30° (B) 90°

(C) 120° (D) e0®

Correct Option : A
Explanation :



Let g be the equal angles and a be the
unequal angle a =2 = 2g=4g

As sum of all angles of a triangle is 180°
a+g+qg=13830°Fk4g + g+ qg=180°

B bg=180"b g=30°

% Each equal angles is of 30°.

Question (71)

Two circles touch each other externally. The
distance between their centres 1g8 7 cm. If

the radius of one circle is 4 cm, then the
radius of the other circle 1s:

% 99 =t | ThH-gE ° e 81 S sl # A
=1 i 7 Wi B 9 U 99 w1 e 4 w6
9 =1 fa=m faett 2o

(A) 2 cm/HL

(B) 3 cm /W

(C) 3.5cm /5

(D) 4 cm /9.

Correct Option : B
Explanation :

8]

AB=7, A0=4cm
AO+OB=7cm

F4+0B=7
FPOB=7-4
=3 cm

Y Other radius = 3 cm



Question (72)

By selling 12 marbles for a rupee, a
shopkeeper loses 20%. In order to gain 20%
in the transaction, he should sell the
marbles at the rate of how many marbles
for a rupee?

TF P 12 OEE =1 W R e 5 20%
#1717 24 21 36 A1 H 20% @ FA0 % o o

TF ¥4 H fad OEd @=d =ifzu?
(A) 8 (B) 6
(C) 4 (D) 3

Correct Option : A
Explanation :

SPof 12 marble = 12, Loss = 20%
CP= — =1.25
0.8

120
If profit = 20%, new SP = 1.25 =

100 ~ < I®

12
For ¥ 1, he should sell = E = 8 marhbles.

Question (73)



Direction (73-75) : The following bar diagram
shows the percentage of Population A, B and C
from year 2004 to 2007. Examine the bar
diagram to answer the questions no. 73-75.

fodor (73-75) : T 77 antw =4 2004 # 2007 TF
% @6l % MM A, B 79T C & TEEN & WiAva &l
FYAT §1 AT T TS WL 37T WA W@ 73-75 W

Ecld!

R,

G

“l‘r
=

)
o

e,
o,

o
T

LA,

-
-

-
o,

o

3 W,
o]

)
e

3

L)

TR
o

3

04 X005 2006 2007

The ratio between the population of A and B
in 2004 was-

2004 % A 31 B % 919 F1 F9EE0 F1 5T 91-
A 2:3

B 3:4

iC) 3:5

D 1:2

Correct Option : A
Explanation :

- .red ratio = 30 2
equired ratio 45 3

Question (74)



Direction (73-75) : The following bar diagram
shows the percentage of Population A, B and C
from year 2004 to 2007. Examine the bar
diagram to answer the questions no. 73-75.
fodor (73-75) : T 77 antw =4 2004 # 2007 TF
% @6l % MM A, B 79T C & TEEN & WiAva &l
FYAT §1 AT T TS WL 37T WA W@ 73-75 W
I F)

100y
05—

Ta=
T

e
35 mssan -
30=—t--
T
Rl T
15=t-"
e

AR |
1
'
i

:
:

2006 2007

If the total population in 2004 was 5 lakhs,
then the population of A and C in that year
was-

afg 2004 ¥ T FEEN 5 R G, 69 39 99 A JW
C i &R -

(A) 250000

(B) 225000

(C) 200000

(D) 275000

Correct Option : D
Explanation :

Given ratio = 30 : 45: 25
=6:9:5
6+9+5=20
Also,6+5=11
B 20 = 5 lakh

]
then, 11 = E ® 11 lakh

= 2.75 lakh
=2,75000



Question (75)

Direction (73-75) : The following bar diagram
shows the percentage of Population A, Band C
from year 2004 to 2007. Examine the bar
diagram to answer the questions no. 73-75.

fader (73-75) : Fe 9% 3@ a9 2004 | 2007 7=
% @ul % AN A, B 791 C & WAHE & Wiavia i
FyriaT &1 3@ T AT W 3T WA HE@ 73-75 H

INT F1

100=1=
95 wpem
) e
85-—
B0
—

75

I 22 [
0w >

70—
65
60 -fees
55 B et
50) e

45 -4-----
40=t=

35=feean
30
Pl
20 =f---
15=t--
10=t--

e -

SOOI ITH,
55 Bl |

SN NARRARNS

2004 2005 2006 2007

If the total population of the state in 2005
was 5 million, then the population of A was-
[1 million = 10,00,000]

7fg 2005 ¥ 9 #1 T sHaen 5 fafams o, @A
FI wEE 91-

[1 fafe= = 10,00,000]

(A) 1500000

(B) 1750000

(C) 2000000

(D) 1250000

Correct Option : B
Explanation :



- 1 million = 10 lakh
% 5 million = 50 lakh
Given ratio = 35: 55 : 10
=7:11:2
As, T+ 11+2=20
It means 20 = 50 lakhs

50
then 7 = E = 7 lakhs

= 17.5 lakh
=17,50,000

Question (76)

Direction : In Question nos. 76 to 78 some part of the sentences have errors and some are
correct. Find out which part of a sentence has an error and b lacken the ova | corresponding
to the appropriate letter (A), (B), (C). If a sentence is free from error, blacken the oval
corresponding to (D) in the Answer Sheet.

We go to school (A)/ with a view to (B)/ study. (C)/ No error (D)

Correct Option : C

Question (77)

The school's athletics (A)/ is all (B)/ for both boys and girls. (C)/ No error (D)

Correct Option : B

Question (78)

He turned out to be (A)/ no other than (B)/ my old friend. (C)/ No error (D)

Correct Option : B



Question (79)

Directions : In Question nos. 79 to 81, sentences given with blanks to be filled in with an
appropriate word(s). Four alternatives are suggested for each question. Choose the correct
alternative out of the four and indicate it by blackening the appropriate oval in the Answer
Sheet.

When is the wedding coming ? (A) on (B) up (C) of (D) off

Correct Option : D

Question (80)

Make haste we shall miss the train. (A) either (B) or (C) else (D) lest

Correct Option : B

Question (81)

The police on duty. (A) are (B) is (C) was (D) have

Correct Option : A

Question (82)

Directions : In question nos. 82 to 83, out of the four alternatives, choose the one which best
expresses the meaning of the given word.

VALIANT (A) Courageous (B) Quarrelsome (C) Cheerful (D) Repulsive

Correct Option : A



Question (83)

OBSTREPEROUS (A) Lazy (B) Awkward (C) Sullen (D) Unruly

Correct Option : D

Question (84)
Directions : In question nos. 84 to 85, choose the word opposite in meaning to the given
word.

DISSENT (A) Disagreement (B) Unacceptable (C) Agreement (D) Discord

Correct Option : C

Question (85)

CANDID (A) Ambiguous (B) Secretive (C) Uncertain (D) Misleading

Correct Option : B

Question (86)

Directions : In question nos. 86, four words are given in each question, out of which only one
word is spelt correctly/wrongly out of them. Find the word spelt correct/wrong and mark your
answer in the Answer Sheet.

(A) Tenasious (B) Tenacoius (C) Tenacious (D) Tenecious

Correct Option : C



Question (87)

Direction : In Question nos. 87 to 89, four alternative are given for the Idiom/Phrase in bold in
below sentences . Choose the alternative which best expresses the meaning of the
Idiom/Phrase and mark it in the Answer Sheet.

The representatives of the two states tried to enforce a treaty which was a dead letter.
(A) not well-thought out

(B) no longer in force

(C) no longer relevant

(D) not in keeping with the changing times

Correct Option :

Question (88)

Real Madrid bore the palm in the league matches.
(A) played quite well

(B) was victorious

(C) was defeated

(D) played a very boring match

Correct Option : B

Question (89)

Just keep your wig on. Everything will be alright.
(A) hold on to your wig, so it won't fall off

(B) get another hair cut

(C) calm down

(D) take off your wig

Correct Option : C



Question (90)

Direction: In Question nos. 90 to 92, a sentence/ a part of the sentence is italicised in
underlined. Below are given alternatives to the italicised part at (A), (B), (C) which may
improve the sentence. Choose the correct alternative. In case no improvement is needed your
answer is (D). Mark your answer in the Answer Sheet.

Instead of being helpful, he was being hindrance.
(A) hindering

(B) hindrance

(C) hindered

(D) No improvement

Correct Option : A

Question (91)

By the time she had finished her work, | had nearly given up all hope of arriving at the party in
time.

(A) she was finishing

(B) she finished

(C) she will finish

(D) No improvement

Correct Option : B

Question (92)

He was accused for stealing an expensive watch.
(A) accused with

(B) accused of



(C) accused upon

(D) No improvement

Correct Option : B

Question (93)

Direction : In Question nos. 93 to 95, in the following question, out of the four alternatives,
choose the one which can be substituted for the given sentence.

Science of printing
(A) Calligraphy

(B) Typography
(C) Topography

(D) Cryptography

Correct Option : B

Question (94)

Contempt of God
(A) Atheism

(B) Nihilism

(C) Blasphemy
(D) Agnosticism

Correct Option : C

Question (95)



Responsible according to law
(A) Liable

(B) Eligible

(C) Legalised

(D) Legitimate

Correct Option : D

Question (96)

Direction (Q. No- 96 - 100) : In these question you have two brief passages with six questions
following the passage. Read the passage carefully and choose the best answer to each
question out of the four alternatives.

Passage -1

Although Indians spend less money on allopathic medicines than people in most Asian countries,
more than 40,000 drug formulations are available here. All manufacturers are required by law to
provide information about their product either on the packaging or in a pamphlet inside. But, in many
cases, this information is very meagre and hard to understand. Many doctors, too, do not tell their
patients anything about the drugs they prescribe.

What should we be concerned about when we take drugs? There are two areas: (1) Side effects:
Many people taking a drug will notice an undesirable reaction, usually minor. But even the mildest
drugs can do harm if taken improperly, long enough or in excessive doses. And everyone responds
to a drug differently. (2) Failure to follow directions : Many of us disobey prescription and instructions
on how much to take and when. It is easy to fall into thinking that more of the drug will speed up the
healing. It is more common, however, for people to stop taking a drug when they begin to feel better.
This, too, can be dangerous. What are the steps to be taken for safety? (1) Take a drug only as
recommended on the label or by the doctor. (2) If you feel ill after taking a drug, check it with doctor.
(3) Do not mix drug. (4) Check whether any food or activities are to be avoided.

Which one of the following statements is true?

(A) Indians use more than 40,000 allopathic drugs.

(B) Indians hate allopathic medicines.

(C) Other Asian countries do not have allopathic medicines.

(D) Indians cannot afford allopathic drugs.

Correct Option : A



Question (97)

Although Indians spend less money on allopathic medicines than people in most Asian countries,
more than 40,000 drug formulations are available here. All manufacturers are required by law to
provide information about their product either on the packaging or in a pamphlet inside. But, in many
cases, this information is very meagre and hard to understand. Many doctors, too, do not tell their
patients anything about the drugs they prescribe.

What should we be concerned about when we take drugs? There are two areas: (1) Side effects:
Many people taking a drug will notice an undesirable reaction, usually minor. But even the mildest
drugs can do harm if taken improperly, long enough or in excessive doses. And everyone responds
to a drug differently. (2) Failure to follow directions : Many of us disobey prescription and instructions
on how much to take and when. It is easy to fall into thinking that more of the drug will speed up the
healing. It is more common, however, for people to stop taking a drug when they begin to feel better.
This, too, can be dangerous. What are the steps to be taken for safety? (1) Take a drug only as
recommended on the label or by the doctor. (2) If you feel ill after taking a drug, check it with doctor.
(3) Do not mix drug. (4) Check whether any food or activities are to be avoided.

How are drug users to be instructed by the manufacturers?

(A) Doctors should give a manual of instructions.

(B) The chemist should issue an instruction manual.

(C) Information should be printed on the carton or in a pamphlet kept inside it.

(D) Patients should keep in touch with drug manufacturers.

Correct Option : C

Question (98)

Although Indians spend less money on allopathic medicines than people in most Asian countries,
more than 40,000 drug formulations are available here. All manufacturers are required by law to
provide information about their product either on the packaging or in a pamphlet inside. But, in many
cases, this information is very meagre and hard to understand. Many doctors, too, do not tell their
patients anything about the drugs they prescribe.

What should we be concerned about when we take drugs? There are two areas: (1) Side effects:
Many people taking a drug will notice an undesirable reaction, usually minor. But even the mildest
drugs can do harm if taken improperly, long enough or in excessive doses. And everyone responds
to a drug differently. (2) Failure to follow directions : Many of us disobey prescription and instructions
on how much to take and when. It is easy to fall into thinking that more of the drug will speed up the
healing. It is more common, however, for people to stop taking a drug when they begin to feel better.



This, too, can be dangerous. What are the steps to be taken for safety? (1) Take a drug only as
recommended on the label or by the doctor. (2) If you feel ill after taking a drug, check it with doctor.
(3) Do not mix drug. (4) Check whether any food or activities are to be avoided.

Only one of the following sentences is right. Identify it.

(A) All medicines produce reactions of various degrees in their users.
(B) Even mild drugs are not always safe.

(C) Medicines should be discontinued as soon as we feel better.

(D) More than the prescribed dose brings quicker recovery.

Correct Option : B

Question (99)

Although Indians spend less money on allopathic medicines than people in most Asian countries,
more than 40,000 drug formulations are available here. All manufacturers are required by law to
provide information about their product either on the packaging or in a pamphlet inside. But, in many
cases, this information is very meagre and hard to understand. Many doctors, too, do not tell their
patients anything about the drugs they prescribe.

What should we be concerned about when we take drugs? There are two areas: (1) Side effects:
Many people taking a drug will notice an undesirable reaction, usually minor. But even the mildest
drugs can do harm if taken improperly, long enough or in excessive doses. And everyone responds
to a drug differently. (2) Failure to follow directions : Many of us disobey prescription and instructions
on how much to take and when. It is easy to fall into thinking that more of the drug will speed up the
healing. It is more common, however, for people to stop taking a drug when they begin to feel better.
This, too, can be dangerous. What are the steps to be taken for safety? (1) Take a drug only as
recommended on the label or by the doctor. (2) If you feel ill after taking a drug, check it with doctor.
(3) Do not mix drug. (4) Check whether any food or activities are to be avoided.

Drug manufacturers

(A) do not give instructions

(B) give all instructions necessary

(C) give very little and unintelligible information

(D) give information only when asked

Correct Option : C



Question (100)

Although Indians spend less money on allopathic medicines than people in most Asian countries,
more than 40,000 drug formulations are available here. All manufacturers are required by law to
provide information about their product either on the packaging or in a pamphlet inside. But, in many
cases, this information is very meagre and hard to understand. Many doctors, too, do not tell their
patients anything about the drugs they prescribe.

What should we be concerned about when we take drugs? There are two areas: (1) Side effects:
Many people taking a drug will notice an undesirable reaction, usually minor. But even the mildest
drugs can do harm if taken improperly, long enough or in excessive doses. And everyone responds
to a drug differently. (2) Failure to follow directions : Many of us disobey prescription and instructions
on how much to take and when. It is easy to fall into thinking that more of the drug will speed up the
healing. It is more common, however, for people to stop taking a drug when they begin to feel better.
This, too, can be dangerous. What are the steps to be taken for safety? (1) Take a drug only as
recommended on the label or by the doctor. (2) If you feel ill after taking a drug, check it with doctor.
(3) Do not mix drug. (4) Check whether any food or activities are to be avoided.

Which one of the following is true?

(A) Throw away the drug that produces side effects and try another.
(B) Drugs maybe taken with all kinds of foods.

(C) Drugs do not inhibit our normal life style.

(D) Drugs should be used only according to prescription.

Correct Option : D

Question (101)

Directions (1 — 3) : In each of the following questions, select the related letter/word/ number
from the given alternatives.

forer (1-3): ooty weet  Rw 1w Rywreul 7 @ weafrwua snuwerse/aea #t 9fav|
Safe : Secure : : Careful : ?
ﬂTf&?lT-r: HDHAC © : {GYTT © ?

(A) Converse/3ecT



(B) Sure/fAfad
(C) Wary/Tgfaara
(D) Lock/drelt

Correct Option : C

Explanation :
As Safe and Secure are synonyms of one another, similarly Careful and Wary are synonyms.

Question (102)

India : Rupee : : South Africa : ?
R : BYUT : : GITUT 3ThTenT © ?
(A) Dinar/=eTR

(B) RandAs

(C) Leone/feratt

(D) Koruna/areoT

Correct Option : B

Question (103)

6:38::11:7
(A) 121 (B) 22
(C) 44 (D) 123

Correct Option : D
Explanation :
6E6'+2=738

11 e11%8+2=123



Question (104)

Directions (4-5) : In the following questions, a series is given with one terms missing. Choose
the correct alternative from the given ones that will complete the series:

r&er (4-5): Prafaf@a weal &, v sregwa R a1 § s v vg ooa 3| Rw e Rsedl § ¥ a
e Rwed AT St 3regHA Y U A

9845, 9676, 9555, 9474, ?

(A) 9438 (B) 9449

(C) 9425 (D) 9393

Correct Option : C
Explanation :

9845 9676 9355 9474 9425

{13f =160 —{11f=—121 —f8= 81 f7]=—49

Question (105)

6812, 6816, 6960, 7444, ?
(A) 8446 (B) 8468
(C) 7298 (D) 6906
Correct Option : B

Explanation :
6812 6816 (=10 7444 8468

42 = 4 4127 =144  +2F = 48B4 +32° = 1024

| H 1l t

+10 +10 +10

Question (106)



Which of the following diagrams indicates
the best relation between Human, Monkey
and Living being?

e § F FA- S T, Fe qe T i
= way 2 w22

» (OP )
(©) D) @

Correct Option : C

Question (107)

Arrange the words given below in a meaningful sequence.
19T erscl oY Uk AT Shel H cTATTUT |
1. Site/EATT 2. Plan/ATSteT

3. Rent/fRAT 4. Money/YeT

5. Building/38Rd 6. Construction/fa&ToT
(A)1,2,3,6,5,4
(B)3,4,2,6,5,1
(©4,1,2,6,5,3
(D)2,3,6,5,1,4

Correct Option : C
Explanation :
4eleal2eaceased

Question (108)

In certain code language if POSITION is written as KUQRLMGR then how PERSON will be written
in the same code?



gfe fopdY Giehfas 99T & POSITION & KUQRLMGR for@r Sirar &, af 33T Gierfaes 9T & PERSON
F frg gopR forar Sreem?

(A) QESTPO (B) NOSREP
(C) PERSON (D) TGRLMQ

Correct Option : D
Explanation :
POSI TION PER SON

KooK X

KU{'}}R LMGE TGR LMOQ
3 22 +T #3423 43 43 42 +3 +2 )

Question (109)

Select the combination to form a meaningful word from combination of these numbers.

3 dehfodesh GHTANSTS T The Y foleteh 3781 &l caaferd el O Ueh YqUT 2reg T fHToT 8|
CELMSU

123456

(A)463521(B)564132

(C)465123(D)465132

Correct Option : D

Explanation :
MUSCLE

465132

Question (110)



At what time between 3 and 4o clock the
hands of a clock concide?

3 # 4 =9 % "= few wom 9= w1 g A o
Tt 87

4 4
(A) 1617 min past 3/3 Tt 16+ T

B) 15% min past 3/3 FH 15% fiFe

5 3
IC) ISE min past 3/3 =R ISE o=

(D) 1&14—1 min past 4 /4 THHL lﬁ% [EEES

Correct Option : A

Explanation :
g2 i
T=3+ :—(3° 30+0),
g1 g
=3+ 7y =3past 097

Question (111)

In which year, the Calender of year 2024 will be used again?

a¥ 2024 T HAUST YT fohd I 19T 3 of1T SITTm?
(A) 2048 (B) 2036

(C) 2052 (D) 2030

Correct Option : C

Explanation :

2024
4
So, Required year = 2024 + 28 = 2052

As, =0 as a remainder

Question (112)

Directions (12-14) : Find the odd word/letters/ number pair/number from the given



alternatives.
fader (12-14): e are fawmedt & & farwer ereeysrary/aear Jea/aear #1 gfav|
(A) File/®13al (B) Diary/3R=RT

(C) Letter/@d (D) Paper/ardarst

Correct Option : D

Explanation :
We are using paper in file, diary and letter.

Question (113)

(A) 9612 (B) 1097
(C) 9413 (D) 4742

Correct Option : A

Explanation :
9612=9+6+1+2=18

1097=1+0+9+7=17
9413=9+4+1+3=17
4742 =4 +7+4+2=17

Question (114)

(A) Mustard/@RET (B) Beet/daheel

(C) Radish/fell (D) Gingelly/farer

Correct Option : D

Explanation :
Only Gingelly is the Kharif crops.



Question (115)

If paternal uncle of Savitri's father is grandson of father of Shantanu and Shantanu is the only child
of his father, how Shantanu is related to Savitiri?

I Afas o T T araT e o T AT 9T & T ATcAe] 3=y FAAT T Sehel Il T &, AT ATcA]
QT & AT Haer g2

(A) Great Grandfather/9cIar
(B) Grandfather/eTer

(C) Father/far

(D) Unclefdrdar

Correct Option : A
Explanation :

Father

216y

Shantanu

uosp

Shantanu is Great Grandfather of Savitn.

Question (116)

Direction (16-17) : In guestion no 16 to 17,
select the missing number from the give
responses.

e (16-17) : weat = 16 9 17 #, fau 7o famweat
W H faea e i

13|21 21|18 23|11
24| 40 39] 56 W

(A) 36 (B) 48
(C) 46 (D) 54




Correct Option : B
Explanation :
13+21+24=58r5=8=40
21+ 18+39=7T8p 7= 8=256
23+11+34=68:b6=8=48

Question (117)

11 3 3

19|880)13| |11|178| 5 17] 7 |11

17 7 23
(A) 872 (B 208
(C) 442 (D) 726

Correct Option : B
Explanation :
As,
{112+ 132+ 172+ 199 - (11 + 13+ 17 + 19)
=121 + 169+ 289+ 361 -60=880
and (3 + 5+ T+ 119 - (3+5+ 7+ 11)
=09+25+49+21 =204 -26=178
Similarly,
52+ 112+ 232+ 179 - (5+ 11+ 23+ 17)
=25+ 121+529+ 289 -56
=908

Question (118)

Directions : In question no. 18, which one set of letters when sequentially placed at the gaps
in the given letter series shall complete it?

forder: weaT 1. 18 #, 37aRY T Fl-AT WHE Wrelt TUTEAT W FHIR T@A F &Y 1§ &R @Il F T
HAM?

_E_SI_EW_B__TE

(AROKLRO(B)MKNJIJIM



(COWBTESI(D)AEPROH

Correct Option : C
Explanation :
WEBSITEWEESITE

Question (119)

Two positions of a dice has been shown here.
Which digit will be at top when 3 is at
bottom?

TET U FT % FTEE] FI 90 TA 21 WA A 3
Fr=t &, A T FE-W F W

P ¢

(&) 3 B 2
(€ 1 (D) 4

Correct Option : D

Explanation :
From both the dices, we can observe that digit 4 is missing, it means it is at bottom of 3

Question (120)



From the given answer figures, select the
one Iin which the gquestion figure is
embedded.

% M IW AFEE § ¥, 39 wEE w g
W A A= B

Question figure /W¥3 HTHT:
Lt
Answer figures /397 3eFfaar:
TR =
R[S
(A) (B) (€) (D)

Correct Option : D

Question (121)

If a mirror is p;lalred on the line, then which
among the answers will be the right image?
ofz =4w 1 @ 9 TE W, 9@ Y 9 FE W I
THF1 W2l wfafaa Fm?

MAGAZINER

(A MADARIVNA (B] HVIZADAM
(C) MADAZIVMA D) AMISADAM

Correct Option : D

Question (122)



If6436 = 14 and 14416 = 16, then 324841 =7
a5 6436 = 14 AL 14416 = 16, @ 324841 =7
(A) 37 (B 39
(C) 47 (D) 43

Correct Option : C
Explanation :

Joa + J3e =8+6=14
Jl4g4 + fig =12+4=16
J323 + /831 = 18+ 29 =47

Question (123)

Choose from the four answer figures the
figure that will be formed when the question
figure is folded into a box.

fou T =W I AEfTE 5 9 39 A w99 w6,
9 79 A F TF 999 % F9 F 6 S

Question figure /79T A :
FAN

lol b

Answfﬂg‘u:esm a-l'l'!’»ﬁ'ﬁ:

O
(D] (o
(A) B) ) D)

Correct Option : D

Question (124)



Identify the figure that will complete the
pattern.

M AR F TEEH WU HOQ )
Question figure /W9 =R :
? -
Answer figures /37 3TTeRfaAl :
< B X
(A) (B) (C) (D)

Correct Option : D

Question (125)



A word is represented by only one set of
numbers as given in any one of the
alternatives. The sets of numbers given in
the alternatives are represented by two
classes of letters as in two matrices given
below. The columns and rows of Matrix-1 are
numbered from 1 to 4 and that of Matrix-II
are numbered from 5 to 8. A letter from
these matrices can be represented first by
its row and next by its column. E.g., 8" can
be represented by 13, etc., 'D" can be
represented by 76 and ‘M’ can be
represented by 57 etc. Similarly, you have
to identify the set for the word ‘MADAM".
TF Y= %A U HEN-H9E TA S T E, S
T fowedi & 9 forelt v o fomn man 21 el  fom
T HE-TgE Al & 3 9 g g T E, S
= fau = e | 21 AegE-1 % w9 A ot
H WS | W4 6 T E AR SogE-11H 5 W8I
=R A TF 39 F Ted I0E] G A AE § =Y
A g S W HEAl B IR @ A ST w13,
2 =9 S el §, "D Wi 76, BN SWE A Hehal
T A M F 57 B @A W wEA 1 7 O 6,
AR = ‘MADAM' % fau d=m 998 =1 w99
z

Matrix-I1/3T=g-1 Matrix-I1/3T=E-11

112134 S|6 |7 |8
11AIM|S|D 5|A|S5|M|D
215 M|A|D 6|3 |A|D|S
JIMDJ|A|S TIA|D|M|S
41AM|S|D BIAIM|D|S

1A] 12,23,65,77,55
(B) 22, 57, 32,31, 12
(C) 12, 41, 14, 75, 57
(D) 65, 88, 31, 56, 86

Correct Option : C

Question (126)

Which one of the following is not a lagoon lake?



frafafEa & 8§ -8 ve oeget el 781 872
(A) Ashtamudi lake/3TSeaT3T FireT

(B) Chilka lake/feer afrer

(C) Periyar lake/ARaR sfter

(D) Pulicat lake/geliehe Fiter

Correct Option : C

Explanation :
Periyar Lake is not a lagoon. It is surrounded by mountain ridges of Andaman hills.

Question (127)

Galena an ore of lead is chemically known as-

AT, WET T 37T, T A I o 2-
(A) Lead carbonate/cis Fefaic

(B) Lead oxide/ols 3{TeFaT8S
(C) Lead chloride/ois FRISS
(D) Lead sulphide/cis TohIss

Correct Option : D

Explanation :
Galena, also known as Lead glance is the natural mineral form of Lead (ll) sulphide

Question (128)

The Ravva, the offshore block with great potential for oil, is located in:
A A U Y Tud &1 rar aﬁagamaﬁmaﬁrﬁmm%, Ty g-

(A) Krishna-Godavari basin/&som-aiteraly S ael &



(B) Cauvery basin/eradl i &
(C) Mahanadi basin/FgTdr Sf8=T &

(D) Palar-Pennar basin/deR-Je=TR o &eT #

Correct Option : A

Explanation :
The Ravva offshore block is in KrishnaGodavari basin of Andhra Pradesh. It is the area of a great
reserve of petroleum and natural gas.

Question (129)

Name the signals that inform the operating system that some activity has taken place-
3T Hehcll & AT gl Sl 3TRTEIT RiEed 1 Fiad :d & & Fo Ak gg &2

(A) Informers/3=hRTT

(B) Interrupts/3=cIccd

(C) Events/3decd

(D) Handlers/gseq

Correct Option : D

Explanation :

In computer programming, an event handler is an asynchronous call back subroutine that handles
inputs received in a program. Each event is a piece of application-level information from the
underlying framework, typically the GUI. GUI events include the key presses, mouse movement.

Question (130)

What inspires the paintings of Ajantas?

3751 i T a1 IR FIAT 8?2

(A) Compassionate Buddha/sheuTTHT &



(B) Radha-Krishan LeelaRTeNT-atoT offell
(C) Jain Thirthankaras/stsT et

(D) Mahabharata encounters/HgTHRd Jo &

Correct Option : A

Explanation :

The Ajanta Caves is in Aurangabad district of Maharashtra. The caves include paintings and
sculptures considered to be masterpieces of Buddhist religious art (which depict the Jatak tales).
The Ajanta cave paintings depict the life of Gautam Buddha

Question (131)

The concept of public Interest litigation originated in:
STeifeel ITTRIhT T JTTLTIOT T SEITH E3HT &-

(A) United Kingdom/gsTTses famarss &

(B) Australia/3iEforar

(C) USA/ET Tsd ARS8

(D) Canada/&=TTsT &

Correct Option : C

Explanation :
PIL originated from USA. It seeks to protect and promote interest of the public at large.

Question (132)

Personal disposable income is:

SITFIITT TAT 37T gt &-
(A) Always equal to personal income/caTFaTd 31T o §HRAT SRT&R

(B) Always more than personal income/caf&daTd 31T & g2 318



(C) Equal to personal income minus indirect taxes/eafddaTd 3T 3R 319cTeT Y & 3 & SRR

(D) Equal to personal income minus direct taxes/cafFaaTd 3 3R Jcge #x & 3R & s’

Correct Option : D

Explanation :
Disposable income is total personal income minus personal current taxes. In national accounts
definitions, personal income minus direct taxes equals disposable personal income.

Question (133)

Where are the headquarters of the International Energy Agency (IEA)?
HATSET FaiT TSIHT (3MSSV) hT HEATeT Fhgl I U 872

(A) Paris/AR&  (B) Geneva/fSi=ar

(C) London/efesT (D) New York/=gaT%

Correct Option : A

Explanation :

The International Energy Agency (IAE) is a Paris-based autonomous intergovernmental
organization, which works to accelerate the global energy transition, providing research, statistics,
in-depth analysis & policy recommendations. It was established in the framework of the Organisation
for Economic Co-operation and Development (OECD) in 1974 in the wake of the 1973 oil crisis.
Recently, it is in news because IAE will tie-up with India to implement its Unnat Jyoti by Affordable
LEDs for All (UJALA) initiative globally for energy savings. The UJALA scheme is executed by the
Energy Efficiency Services Limited (EESL), a joint venture of PSUs under the Union Ministry of
Power.

Question (134)

Aaron Pryor, who passed away recently, was related to which sports?

3TTEeT IR, ToTeAaRT &TeT &1 7 fereT 27 a7 &, 9 g @ ¥ gafig a7
(A) Boxing/HehaToll  (B) Badminton/dsféiee

(C) Wrestling/&eet (D) Swimming/cRTeht



Correct Option : A

Explanation :
Aaron Pryor (60), an American boxer, has recently passed away in Cincinnati, Ohio. He was known
as "the Hawk" and was a crowd favorite who fought with a frenetic style

Question (135)

To whom can a case of dispute in the election of the President of India be referred to?
AR # Tsgafd & gera el faare & A @l Hefafad & & fhas arg S Sean?
(A) Election commission/faaaret 3miaT

(B) Parliament/dde

(C) Supreme court of India/ARd T ITddH ~ATATeld

(D) Cabinet/#3#HzT

Correct Option : C

Question (136)

Which one of the following pairs is not correctly matched?

foFT goat 7 & ler-ar1 JooA TEr AT 181 672

(A) Jamnalal Bajaj-Satyagraha Ashram at Wardha/STHITelTel SolTol-TcaTag T8 T 7

(B) Dadabhai Naoroji-Bombay Association/gTgrsis sRisi-saies vafaweeT

(C) Lala Lajpat Rai-National School at Lahore/dTelT TeTIcRTa-A2TeTel Fehol oTBIX H

(D) Bal Gangadhar Tilak-Satya Shodhak Samaj/aTel IRTER foreleh-TcT Qersh TATS

Correct Option : D

Explanation :
Satya Shodhak Samaj was founded by Jyotiba Phule in 1873.



Question (137)

The book "The Greatest Bengali Stories Ever Told" has been authored by whom?

TEdeh “C FTEE Sl FENIST TeR eles” fohdreh ganr fordl arg 872

(A) Urmila Das/3f& e gra
(B) Vijay Kumar/fasra AR
(C) Amar Mitra/37/#R &

(D) Arunava Sinha/31%=1a f&=gr

Correct Option : D

Explanation :
The book "The Greatest Bengali Stories Ever Told" has been authored by Arunava Sinha.

Question (138)

Magnetic Resonance Imaging (MRI) makes use of:

DI 3]G SATSIIT (MRI) S219T et §-

(A) High frequency sound waves/3T= AT tdfel @il T
(B) X-ray photon/X-fIoT ®IeTe T

(C) Radio frequency photon/3iTerr2raroft 34Taﬁr BT &l

(D) Beta particles/dTeT shUT T

Correct Option : C

Explanation :
MRI scanners use strong magnetic fields, radio waves to form images of body.



Question (139)

The World's first-ever "Bionic Olympics" has started in which country?

Taea o1 uger “ariifeieh 3cifie” foner &er a1 & fehar arar 82
(A) Malaysia/FeIfar=m

(B) Indonesia/Za=1TraT

(C) China/eet

(D) Switzerland/fFacoRes

Correct Option : D

Explanation :

The World's first-ever Cybathlon championship for disabled athletes has started at Zurich in
Switzerland. The championship is popularly known as 'Bionic Olympics', it differs from the
Paralympics as it sees participants compete against each other using the latest assistive
technologies such as robotic prostheses, brain-computer interfaces and powered exoskeletons. It is
organized by the Swiss Federal Institute of Technology ETH Zurich.

Question (140)

Asbestos is a silicate mineral of calcium and:

UfEaeed (31cg) U Afolche @it &, Hhierras 3iR-
(A) K (potassium)/K (atefRrae)

(B) Al (Aluminium)/Al (Teaafara)

(C) Ba (Barium)/Ba (§RI#)

(D) Mg (Magnesium)/Mg (H3=iIT#)

Correct Option : D

Question (141)



The most important element of weather affecting agriculture in India is
HRT T T JeNTAcT et el HIFH T HET ded FAT 82

(A) Temperature/drdHTeT

(B) Humidity/31Tadr

(C) Wind/arg

(D) Rainfall/asT

Correct Option : D

Explanation :

Though temperature and humidity are key elements of weather crucial for a good harvest in Indian
agriculture, it is said to be the handmaid of monsoon. This is on account of the lack of irrigational
facilities across the country. A good monsoonal year often means a bumper harvest.

Question (142)

Which part of the Indian Constitution deals with ‘Fundamental Rights’ ?
AR EIFETeT &1 it A1 A797 ‘FHiferer 3TAFR A TG T 872
(A) Part lI/&TaT-I - (B) Part ll/&TT-II

(C) Part II/#TeT-111 (D) Part IV/TaT-IV

Correct Option : C

Explanation :

‘Part lll - Fundamental Rights’ is a charter of rights contained in the Constitution of India. It
guarantees civil liberties such that all Indians can lead their lives in peace and harmony as citizens
of India. These include individual rights which are common to most liberal democracies such as
equality before law, freedom of speech, expression and peaceful assembly, freedom to practice
one’s own religion, and the rights by means of writs such as habeas corpus.

Question (143)

The normal RBC count in adult male is:



E THY 7 RBC &1 T fohcfei gielt 872
(A) 5.5 millions/5.5 ATzt
(B) 5.0 millions/5.0 fAfergest
(C) 4.5 millions/4.5 fafergsT
(D) 4.0 millions/4.0 TAferaeT

Correct Option : B

Question (144)

Cloudy nights are warmer compare to
general nights, because clouds mainly

U= TE #T gEA o taremiea 06 T g E,

FHifE T HET: -

|A] Absorb heat from the atmosphere and
send it towards the earth/3FH=a F7 T F
SFiiad wia § N 39 el ® T T e

(B] Prevent cold waves from the sky
descending on earth / AR H Fiaeet i
el WoIAE W U

(C] Reflect back the heat given by earth/
e 51 T T T 1 At w1 S e

(D) Produce heat and radiate it toward
earth /T 39=1 Fa & 3R =9 gl F TH
faerifui = &

Correct Option : C

Explanation :

It is because the night side of Earth will radiate infra-red radiation (heat) back into the space. When
there is cloud cover, the clouds act like a blanket and trap the heat just like a blanket traps heat
close to our body.

Question (145)



Select the correct answer using the code
given below the lists:

oE-l # WY gE-l w S T d o g
WAl 1 HieE T2 1 SUEN S WE IE H 6

£l
List-1/4=-1 List-11/9=f-11
(Geographic feature) (Country)
( wirirfers ®a) (Fwr)
a. Great Victoria 1. Australia
Desert /9 fagaifa  smefora
=
b, Grand Canyon/ 2. Canada/=-=1
Iz F=
c. Winnipeg Lakef 3. New Zealand/
d Southern Alps/ 4. USA/
2fgm e g T AT
Code /&=
a b e d
A1 2 4 3
B 1 4 2 3
c)3 2 4 1
D3 4 2 1
Correct Option : B

Question (146)

Darul-Uloom Deoband is associated with
CTeel-3¢A caec ohad He T 82
(A) Parsis socio-cultural reforms/aRHT HTATTS AEhich FER

(B) Satyagraha movement/dcdTaIg TG Iele
(C) Muslim reform movement/ﬂwwm
(D) Terrorist activities/3TTdehardr arfafafaar

Correct Option : C

Explanation :
Darul Uloom Deoband is an Islamic school where the Deobandi Islamic Movement was started.



Deoband had opposed the Jinnah’s Demand for the partition of British India into Muslim and Non-
Muslim sections. The school advocates an orthodox version of Islam and has repeatedly distanced
itself from religious extremism.

Question (147)

Vitamin E is particularly important for:
faerf@e E faQve: faneres forw #geaqo 82
(A) Development of teeth/

il & faerd & forw

(B) Carbohydrate metabolism/

FTelgIsgc 39Urag H

(C) Normal activity of sex glands/

foier 91Tt r araTe fomar &

(D) General health of epithelial tissues/

3Yehell (CVTUfiforge) 39 & AT Taeeg & o

Correct Option : C

Question (148)

The main source of the banks are :

dept T HET EId &-

(A) Interest paid by them on deposits/sTHT WX 3sTeh GART ThIAT ITAT SATS

(B) Interest earned by them on loans extended to people/@TaiT I fGT 3T FOT W 3e1eh garT 3iford
o arar STt

(C) Interest received by them from the government/fR&R | 3 IRy 31fora foma s sare

(D) None of these/3sTH & IS 1T



Correct Option : B

Explanation :
The assets of the banks are the loans and advances given to the public. Banks earn interest on
these loans and advance is the main source of income for the banks.

Question (149)

The "Residuary Powers" (not mentioned in the Union, State or Concurrent list of the constitution) are
vested in:

“3rafrse TSR foTeteht Sooll HEI, T T A Fiaat H g1 fohar aram g feifai@ad # &
forea fAfgd gra 82

(A) President of India/sTRd & Irsgafd &

(B) Both Rajya SabhaRTeTaT 3R Sliehaet gleir

(C) State LegislatureRT faursiedsa &

(D) Lok Sabha/dlierdar &

Correct Option : B

Question (150)

Currency is accepted as a medium of exchange because:

Hel 1 fafa#a & ATeds & §9 & TR ham Sirar g ifen-

(A) The currency is authorised by the government of the country/#gT =T &I HIhR EaRT 3HTehd g
(B) It has the backing of the people/3& &3 &T FHAT UTed g
(C) It is easy to handle/3H THTT 3TET g

(D) None of the above/gTH & HIg AGT

Correct Option : A

Explanation :
A medium of exchange permits the value of goods to be assessed and rendered in terms of



intermediary. Most often, a form of currency widely accepted to buy any other goods.

Question (151)

Directions (51 - 52): The bar chart given below
shows the percentage distribution of the
production of various models of a mobile by a
manufacturing company in 2015 and 2016. The
total production in 2015 was 35 lakh mobiles
and in 2016 the production was 44 lakh. Study
the chart and answer the following questions.
fador (51 - 52) : ¥t fau ww amiw o U= dEEA
fomtar =9 grT 29 2015 7= 2016 # fafa= ai=z=t
& WETEE & ST uiave FenEn e fad 2015 °
WETEe = FE e 35 G 91 3T 2016 ¥ 9% 44

TE 9T A w3 S etatEs v & 39w

EuELL
Percentage of six different types of
mobiles manufactured by a company
over two years
TF wo g iR e s v &
orarde & =1 =39t & wihow
g 1009 oem F_J F Models/dfza
4 801 Mo =
SE 07 =34c mmo
Enﬁ 607 Rc
R B B
3 E 30 A [Ja
‘:-i' 20
g ™~ A
~E-‘ 104
= 2015 2016
Year /99

For which models was the percentage variation in production from 2015 to 2016 the maximum?

¥ 2015 ¥ 2016 deh foheT ATST & 3cured H Ffard searg 3Tehd AT?
(A) B and/3iR C (B) C and/3iR D

(C) D and/3iR E (D) A and/3iR B

Correct Option : D
Explanation :



Percentage variation :

40— 1

- 3329
Model A = 30 = 100 3
20-15 1

- 3329

Model B = s = 100 3 o
Model C = 2_[' x 100 = - 25%

Question (152)

Directions (51 - 52): The bar chart given below
shows the percentage distribution of the
production of various models of a mobile by a
manufacturing company in 2015 and 2016. The
total production in 2015 was 35 lakh mobiles
and in 2016 the production was 44 lakh. Study
the chart and answer the following questions.
frdwr (51 -52) : e fau ww sviw § v ArEmE
Trmitar et grT @9 2015 w47 2016 ¥ fafa=1 wizal
= WiATSE & WiieTuT Wiavra 9T T € A 2015 °
e w1 e I 35 AN 91 3T 2016 # A% 44

A 97 AE & JEgT & etaiEd uyE & 39t

Htfa)
Percentage of six different types of
mobiles manufactured by a company
over two years
TF w0 g i e e v #
HEWE F Ir =6t & wiaem
£ 1004 F_JF Models/mfzd
i a3 [ N— E s
g B0 1Ml o CE
SE 0 =c  mmo
EZ %07 B B
E E 30 - A LA
Sk 20
— - .;'!I.
*-E-' 10+
= 2015 2016
Year /@49

If the percentage production of A type iphones in 2016 was same as that in 2015, then the number
of A type iphones produced in 2016 would have been

Ife a¥ 2016 H A IR & MSHIA o FT2ld 3cdIGsT, I¥ 2015 o sRT&X &I, df a¥ 2016 F A JhR &



TSI T 3cTTCe [ohclall &IcT?
(A) 14,00,000 (B) 13,20,000
(C) 11,70,000 (D) 10,50,000
Correct Option : B

Explanation :

Required production

44 x 30
100
1320000

-3

Question (153)

If 3sn 6 +4 cos A =5 Find the value of
4 cos -3 sin 0.

I 3sinfB+4cosB=5T4cosf -3 sinf T
= e

[A] 1.8 B 1.2

iC) 1.4 D) 0.8

Correct Option : C

Explanation :
5
3
4

Put g 3 _ 4

sing=¢,cosg= g

. 4 25

then3sing+4cosg=3=*7 +4 =5 =5

3 C g 351.Ilq - —3x = p— 1
4 — =4 x —3Ax = =1.4
D, o8 5 5 =]

Question (154)



What is the HCF of 3.0, 1.2 and 0.06.
3.0, 1.2 31X 0.06 &I A.9. FT &7

(A) 0.06 (B) 0.03

(C) 0.09 (D) 0.12

Correct Option : A

Explanation :
HCF (3.0, 1.2, 0.06)

Her 22,8 390 uer 20 _5.06
£10°'5' 500 Esoe ¢

Question (155)

A school has only four classes that contain 10, 20, 30 and 40 students respectively. The pass
percentage of students of these classes are 20%, 30%, 60% and 100% respectively. Find the pass
% of students the entire school.

U faUTerT & hadl IR HeTIV & Torets Taenfey i TEar saer:10, 20, 30 2T 40 §| 37 a3t &
frenfi & Herdr &1 ufaerd saer: 20%, 30$%, 60% AT 100% & R femera 7 faenfiat & awherar
&1 gfaerd ATd Y|

(A) 56% (B) 76%

(C) 34% (D) 66%

Correct Option : D

Explanation :
The number of pass candidates are 2 + 6 + 18 + 40 = 66 out of total 100.

Hence, Pass pecentage = 66%

Question (156)

There was a leakage in the container of the refined oil. If 11 kg oil is leaked out per day then it would
have lasted for 50 days, if the leakage was 15 kg per day, then it would have lasted for only 45 days.
For how many days would the oil have lasted, if there was no leakage ant it was completely used for
eating purpose?

R®1Es doT & 9T & U R 41| i wfafea 11 et aer 1 Rara grem, af Ig 50 &t de geen| 3R



Rara 15 foralt 9fa faet g1em, aY Ig shadt 45 et de Teien| afE Sig RaTa o & 9471 38 Wiel & 36520 H
SEATS fohaT ST, af det fohde featt e elem?

(A) 80 days/fiee  (B) 72 days/feet

(C) 100 days/fésT (D) 120 days/feet

Correct Option : B

Explanation :
(B) Let x kg of oil be used for the eating

purpose, daily, then

[x+11) = 50=(x+ 15) = 45
Bx=25

Thus, Total quantity of oil,
=25+ 11) =30 = 1800

Hence, required number of days,

1800 __
=5 T f<days

Question (157)

Divide Rs.6000 into two parts so that simple interest on the first part for 2 years at 6% p.a. may be
equal to the simple interest on the second part for 3 years at 8% p.a.

6000% &I &I 11T 7 38 TR &1 o ger 3197 O 2 st # 6% aTf¥ies & a7 ATLROT SATST, GEY AT WX 3
a3 8% AT & & HTLROT SATST & ST g

(A) 4000, 2000 (B) %5000, ¥1000
(C) $3000, 3000 (D) None of these

Correct Option : A
Explanation :



Let 1st part is x and 2nd part is (6000 - .

ATQ,
ex’ 2 66 a6000-x)" 3 85
E 100 o7 & 100 o

12x = 144000 - 24x
or, 36x= 144000

144000
36

1= part = ¥ 4000

20d part = T 2000

=T 4000

or, x =

Question (158)

To gain 10% on selling milk at the cost price of pure milk, the quantity of water to be mixed with 50
kg. of pure milk is:

RICET G T STHTCT Hed IR G ol SIehY 10% T8 heATel o oI 50 Tehell ety G8 oh AT ladl & fohefir
HTET 1 fAemar S

(A) 2.5 kg/fRa.
(B) 5 kg/fha.

(C) 7.5 kg/fhaT.
(D) 10 kg/fRa.

Correct Option : B

Explanation :
Let the quantity of water mixed be x kg.
Let CPof 1 kgof pure milk =7 1.

. x 100
Hence, % gain = =0
_ 100x
10 = =0
or, 2x= 10
or, x=5kg

Quantity of water to be mixed = 5 kg



Question (159)

The number of oranges in three basket are in the ratio 3 : 4 : 5. In what ratio the no. of oranges in
first two basket must be increased, so that the new ratio becomes 5:4:3?

oot YRR & el Y FEATHT T ATl 3:4:5 B Tgel al SIhRAT 7 oy JreTdred 7 Herl & Feear
SelS ST, dlfeh AT 37e]dTd 5:4:3 g1 STU?

(A)3:4(B)2:3
(©1:3(D)2:1

Correct Option : D
Explanation :
Let, B, :B,: B, =3x: 4x: bx
Again, B :B,:B,=5y:4y: 3y
Number of oranges remain constant in third
basket as increase in oranges takes place
only in first two baskets.
Hence, 5x = 3y
and, 3x:4x: 5x
Oy 12y 15y
B = ‘5 s =0y: 12y: 15y
And, Sy:4y: 3y b 25y: 20y : 15y
% Increment in first basket = 16
Increment in second basket = 8

16
Thus, Required ratio = B " 2:1

Question (160)

A dealer offers a cash discount of 20% and
still makes a profit of 20%, when he further
allows 16 articles for a dozen to a special
customer. How much percent above the cost
price were the articles listed?

UF T 20% THE g2 TEH ® & a5 6 20%
N FA §, [: 95 UF T UEF w UF A G
™F T 16 T 1 At <0 €1 3 g W Fw g
w9 4 e wioem gea #fus sifwa e mn a@n?
(A) 100% (B) 80%

(C) 75% (D) ﬁﬁ%%



Correct Option : A
Explanation :

Let the CP of the article be ¥ x, since he
earns a profit of 20%, hence SP= X + 20% of
¥=12x
It is given that he incurs loss by selling 16
articles at the cost of 12 articles
[loss = (16— 12)/16 = 25%)

His selling price = SP - 25% of SP=5Px 0.75;
Hence, SP = 0.75 = 1.2

or, SP= (1.2 = xf/0.75] = 1.6X.

This 8P is arrived after giving a discount of
20% on MP.

Let MP =Y.

Y-20%of Y = 5P

0.80Y = 1.6X.

Y =2%.

It means that the article has been marked
100% above the cost price.

Question (161)

Distance between two stations A and B is 778 km. A train covers the journey from A to B at 84 km/hr
and returns back to A with a uniform speed of 56 km/hr. Find the average speed of train during the
whole journey.

al TCAT A TUT B o oT<l 1 &l 778 Tehel. 8] Teh YeramsT A & B ofeh o1 AT 84 fehell /oe dhr e &
YT § AT 56 ToheT. /a0 & 91T & A X aTqH 1T §| G T o RTeT Yefamsy i 3iaet =rel ATl &y

(A) 60 km/hr/fRaT./aoer
(B) 30.5 km/hr/faT./aoer
(C) 57 km/hr/fRa./aoer

(D) 67.2 km/hr/fe&T./aoer

Correct Option : D
Explanation :



€ 2xy
Aver speed =3
I )

]
E km/hr

_é2° 84" 56)u

= £ (8a+5p) Bkm/hr

¢2° 84" 56)i
§ 140 H
= 67.2 km/hr

km fhr.

Question (162)

Two circles are placed in an equilateral
triangle as shown in the fisure. What is the
ratio of the area of the smaller circle to that
of the equilateral triangle?

e F UF wEag fqw o S T e W
FER TE T #1 B 99 9 T9EE e § S9we
1 I

(A) w:363
B n:lE\E
[C) m:273
D) m:423

Correct Option : C
Explanation :



B D [

a
In radius = —p=
Il T 1US gﬁ

Now PQ is parallel to BC. AR is ~" to PQ.
Triangle APQ i1s also an equilateral 0 and
AQRID is a st. line.

NE] a 3 a
AD=—a RDh="7= AR= — a— —
2 N2 2 TR
a
23 BﬁD
. . 1 ;
Radius of smaller circle = E = radius of

| ol 1 a a
= — H T mm = T =
Arger circle 3 2“‘5 B-UIE

Area of smaller circle= pr*

£ ’
za 0 Pﬂz

PisJ30 ~ 108

3
Area of triangle = %aﬂ
2 .'Eﬂz
R ired ratio = —— : =p: 273
% Required ratio 108 2 = -Jr_

Question (163)

What is the least number of soldiers that can be arranged in troops of 12, 15, 18 and 20 soldiers and
also in form of a solid square?

3oT BTl hr ~gAcTH HET F41 § fSieg 12, 15, 18 TUT 20 I Tehisdl # cAaied fohar ST Heh T St
Teh B 3T T TTT 7 it 8|



(A) 900 (B) 400
(C) 1600 (D) 2500

Correct Option : A
Explanation :

In this type of question, We need to find
out the LCM of the given numbers.
LCMof 12, 15, 18 and 20;
12=2=2=3
15=3=5
18=2=3=3
20=2=2 x5
Hence, LCM=2=2=x 3= 5= 3
Since, the soldiers are in the form of a solid
squAare.
Hence, LCM must be a perfect square. To
make the LCM a perfect square, We have to
multiply it by 5, hence, the required number
of soldiers =2 =2 x 3= 3 = 5% 5=900.

Question (164)

A plane left half an hour later than the scheduled time and in order to reach its destination 1500 kms
away in time, it had to increase its speed by 33.33 percent over its usual speed. Find its increased
speed.

T §aTs STgTel 39 [ATRa T & 37 goe &y 23 & 1500 . & 379eY ITdeq TATH & forw fAsverar
&, 38 3796 YT T T 33.33 HARNA TGTAT TSl 8| TSTAT AT AT AT Y|

(A) 250 km/h/fRaT. faoer
(B) 500 km/h/f&haT.feroer
(C) 750 km/h/fRaT./aoer

(D) 1000 km/h/feaiT./aoer

Correct Option : D
Explanation :



By increasing the speed by 33.33%, it
would be able to reduce the time taken for
traveling by 25%.

But since this is able to overcome the time
delay of 30 minutes, 30 minutes must be
equivalent to 25% of the time originally
taken.

Hence, the original time must have been
2 hours and the original speed would be 750
km/h.

Hence, the new speed would be 1000 km/h.

Question (165)

The perimeter of a triangle with integer sides is equal to 15 units. How many such triangles are
possible?

quiTeh 7T aTel TH87sT T GRATY 15 SehTS §| 38 TG & Tehelel TH37T H91d 872
(A)7 (B) 6
(C) 8 (D) 5

Correct Option : A

Explanation : i
The sum of two sides should be greater
than the third. Let us assume a £ b £ c.
a= 1, Possible triangle 1, 7, 7
a= 2, possible triangle 2, 6, 7
a = 3, possible triangles 3, 6, 6 and 3, 5, 7
a =4, possible triangles 4, 4, Tand 4, 5, 6
a = 5, possible triangle is 5, 5, 5
There are totally 7 triangles possible.

Question (166)



In an institute, 60% of the students are boys
and the rest are girls. Further 15% of the
boys and 7.5% of the girls are getting a fee
waiver. If the number of those getting a fee
wailver is 90, find the total number of
students getting 50% concessions if it is
given that 50% of those not getting a fee
waiver are eligible to get half fee
concession?

forelt foramera § 60°% o w=% & a9 o= wsfea
#1 15% wEH1 99 7.5% wsiEal 1 6§ 52
foem =fs w1 & 92 foes T #1920 90 2, 50%
fraram o =t faanfefal =1 den 5@ =1, 4z 78 fam
T & TR 50% famnef fo w2 T2 foen €, 9 ami

% T + foau =mg 27
(A) 360 (B) 280
(C) 320 (D) 330

Correct Option : D

Explanation :

Let us assume there are 100 students in
the institute.
Then, number of boys = 60
And, number of girls = 40
Further, 15% of boys get fee waiver = 9 boys
7.5 % of girls get fee waiver = 3 girls
Total = 12 students who gets fee waiver
But, here given 90 students are getting fee
walver. So we compare

12 =90

o0
So,1=-5 =7.5

12

Now number of students who are not getting
fee waiver = 51 boys and 37 girls.

50% concession = 25.5 boys and 18.5 girls
[i.e. total 44).

Henee, required students = 44 = 7.5 = 330

Question (167)



The perimeter and the area of a Rhombus
are 56 cms and 100 cm? respectively. Find
the sum of the lengths of its diagonals.

it mo=gde =1 ofio A dewe FU: 56 T
a9 100 #fi2 81 = fawol w1 waE &1 30 F=
&7

(A) 33.40 cm/¥, (B) 34.40 cm /¥4

(C) 31.20 cm /¥ (D) 32.30 cm /&4

Correct Option : B

Explanation :

Perimeter = 56. Let the side of the
rhombus be "a’, then 4a= 56 ¢ a=14.
Area of Rhombus = Half the product of its
diagonals. Let the diagonals be d, and d,
respectively.

1
5 *d, xd,=1005d, x d, = 200.

By Pythagoras theorem, (d,)* + (d )* = 4a®
B (d,)* + (d)* =4 = 196 = T84.

(d,)* +(d,f +2d, xd,=(d,+ d,)

=784 +2=x200=1184 8 (d, +4d)

= 1184 =34.40cm

Therefore, sum of the diagonals is equal to
34.40 cm.

Question (168)

The charges per hour of internet surfing is
increased by 25%, then find the percentage
decrease in the time period of surfing user
[a net savy) who can afford only 10%
increase in expenditure:

$o0E |ET & WA W & T H 25% ®i A5 g6, @
TiET IErERa (52 96) 1 e |y o
it F1 = o a wd ¥ waEw 10% 9 95
HEE?

(A) 22% (B) 12%

IC] 15% (Dl 9.09%

Correct Option : B
Explanation :



Time = Rate = total charges
100 = 100 = 10000
¥ = 125 = 110 [25% increase in rate, user
can afford only 10% increase|

=104

X= EEE = 100 = 88%

Thus, decrease in time period = [100—-83%=12%

Question (169)

In the following figure, which of the following
statements is true?

fou o ammfa F, f= 4 9 wE-m A T 87

D
C
3(}11
B_l 30 A
(A) AB=BD (B) AC=CD
(C) BC +CD (D) AD <CD

Correct Option : B

Explanation :
In DABC,
A + BB + 5C = 180°
or, 8C = 180° —90° - 30" = 60" = pACE
also, 2ACE + pACD = 180°
B BACD = 180° - 60" = 120°
Mow, in DACD,
BA + BC + 8D = 180°
30° + 120° + 8D = 180° ¢ 8D = 30°
As, 8CDA = 8CAD = 30° ¢ AC = CD

Question (170)



Two mutually perpendicular chords AB and
CD intersect at P such that AP=4 cm, FB =
6 cm and CP= 3 cm. Find radius of the circle.

% T #EEd, W@ AB 79 CD, P W Afases
FI € W8 AP = 4 Ui, PB = 6 Ul aM CP = 3
. #1 99 F = 9| w0

(4) J31.25cm/¥H(B) [37.5 cm/¥.

(C) 26 cm/¥H. (D) 52 cm/%,

Correct Option : A
Explanation :

X0

) &

When 2 chords AB and CD intersect at P then
AP=PB=CP=FD

Hence 4 = 6 =3 = PD

Thus, PFD = 8 cm

Now AB=AP+FB =10 cm

And CD = CP + PD

Thus, CD =11 cm ¢ DY = 5.5 cm
EPY=55-3=25cm
AB=10cm ¢ BX =5 cm

pOB= 5215 = 3125 cm
Thus radius = ,/3]1.25 em

Question (171)

A vessel of capacity 2 litres had 25% alcohol
and another vessel of capacity 6 litre had
40% alcohol. The total liquid of two vessels
was poured out in a vessel of capacity 10
litre and the rest part of the vessel was filled
with the water. what is the new
concentration of alcohol in new mixture?
2 Wi qOd % UF 909 § 25% TE 30 6 et
O % THE 999 § 40% IE 91 2E G99 F T
F1 10 &2 goa =6 TF =949 § = 2 T 3
TH TE A F A 5w W H 9 fEm e fasm
Y wewed ®I T WEa ¥4 87

(A] 29% B] 49%

(C] 31% (D) 71%



Correct Option : A
Explanation :
Amount of alcohol in first vessel,
= 25% of 2 litre
=0.25 = 2= 0.5 litre
Amount of alcohol in second vessel,
= 40% of 6 litre
=04 = 6= 2.4 litre
Total amount of alcohol out of 10 litres of
mixture 15, 0.5 + 2.4 = 2.9 litre.
Thus, Concentration of alcohol in the
mixture 1is,

(2.9 100)

10 = 29%

Question (172)

Loz
If x=2—- 23+922 then find the value of
-6+ 18x + 24,

1 2 .
AT x=2- 23+0% T P -6 + 18x+ 24 H
o e

(A) 28 B) 39
(C) 46 D) 51

Correct Option : C
Explanation :
L 2
x=2-23 + 23

1

_ 93

| b

Ex-2=2
- 15

b[_x_2:|3=22_21_3_2a‘23_23+

§ o
B —6x+ 12x-8=4-2—6(x—2)
Ear-Ba+ 12x-—HE=2-6x+ 12
Bat-Bat+ 18x-22=0
Ea—-6x+ 1Bx—-22 +46 =46
Eax—-6x+ 18Bx+ 24 =46



Question (173)

A group of men decided to do a job in 4 days.
But since 20 men dropped out every day, the
job completed at the end of the T* day. How
many men were there at the beginning?

@E‘Iﬁﬂﬁﬁﬁ?ﬁmﬁff4ﬁﬁ?ﬂﬁ?3ﬂ§fm
Tuia form T whafea 20 =af freet o, =0 79
fea = o9 o ooma g=m Wiy § fEad =i 92

(A) 240 (B) 140
(C) 280 D) 150
Correct Option : B
Explanation :
Let x be the imitial number of men then,
ATQ,

dx=x+[x—20] + [x-40) + (x- 60) + [x-80) +
(x— 100) + (x— 120)
Fdx=Tx—-420

b 3x = 420
Lo 420
*T 3

B x = 140 men
So, initially there were 140 members.

Question (174)

A, B and C rent a pasture. A puts 10 oxen for
7 months, B puts 12 oxen for 5 months and
C puts 15 oxen for 3 months for grazing. If
the rent of the pasture is ¥ 175, how much
must C pay as his share of rent?

A, BAWC 3 UF 9mme e wfemm A 3 10 56
7 WA fau, B 712 34 %1 5 WA F fag
A9 C 9 15 99 3 780 % fou =9 == = fom @
ofz wmrme 1 1175 8, 9 C = fam = e
% #9 4 T =9 39 =feu?

(A) 45 B %50

(C) 55 (D) 60

Correct Option : A
Explanation :



 A:B:C=(10x7):(12x5):(15x 3)
=70:680:45=14:12:9

#ATH 9a
B 35 o

Csrent=7% =045

Question (175)

In AABC, if AD 1| BC, then
AABC d, 7ff AD | BC, 4=

(A) AB®-BD?*=AC*-CD?
(B) AB?+ BD?=AC?-CD?
(C) AB?—BD?=AC?+ CD?
(D) AB?—AC?=BD?+ CD?

Correct Option : A

Explanation :
In right angle DADEB,

A

D
AB2= AD? + BD?

In Right angled DACD,
AC?=AD?+ CD?

By (1) — (u)

AB?- AC? = BD*- CD?
AB? - BD? = AC? - CD?

Question (176)

Direction : In Question nos. 76 to 78 some part of the sentences have errors and some are
correct. Find out which part of a sentence has an error and blacken the oval corresponding to
the appropriate letter (A), (B), (C). If a sentence is free from error, blacken the oval
corresponding to (D) in the Answer Sheet.

These sort of men (A)/ attain success by hook or by crook (B) so they do not deserve any applause.
(C)/ No error (D)



Correct Option : A

Question (177)

The officers who were on inspection (A)/ in this factory were discovered (B)/ many discrepancies.
(C)/ No error (D)

Correct Option : C

Question (178)
If motorists do not observe the traffic regulations, (A)/ they will be stopped, ticketed (B)/ and have to

pay a fine. (C)/ No error (D)

Correct Option : C

Question (179)

Directions : In Question nos. 79 to 81, sentences given with blanks to be filled in with an
appropriate word(s). Four alternatives are suggested for each question. Choose the correct
alternative out of the four and indicate it by blackening the appropriate oval [ ] in the Answer
Sheet.

This man was an accomplice the thief.
(A) of (B) in
(C) with (D) from

Correct Option : A

Question (180)

In the tragic incident, none of the Asian passengers



(A) is surviving (B) could survive

(C) were survived (D) have survived

Correct Option : B

Question (181)

The farmers their farms, if they had known that a thunderstorm was approaching.
(A) will leave (B) would leave
(C) will have left (D) would have left

Correct Option : C

Question (182)

Directions : In question nos. 82 to 83, out of the four alternatives, choose the one which best
expresses the meaning of the given word.

POIGNANT
(A) Showy (B) Sad
(C) Silly (D) Snobbish

Correct Option : B

Question (183)

REVERIE
(A) Determination (B) Day-dream
(C) Reality (D) Realization

Correct Option : B



Question (184)

Directions : In question nos. 84 to 85, choose the word opposite in meaning to the given
word.

COMPASSIONATE

(A) Indecisive (B) Unlawful

(C) Heartless (D) Untrustworthy

Correct Option : C

Question (185)

WITHER
(A) Wilt (B) Shine
(C) Bloom (D) Excel

Correct Option : C

Question (186)

Directions : In question nos. 86, four words are given in each question, out of which only one
word is spelt correctly/wrongly out of them. Find the word spelt correct/wrong and mark your
answer in the Answer Sheet.

(A) Liesone (B) Liazone

(C) Lieison (D) Liaison

Correct Option : D



Question (187)

Direction : In Question nos. 87 to 89, four alternative are given for the Idiom/Phrase in bold in
below sentences. Choose the alternative which best expresses the meaning of the
Idiom/Phrase and mark it in the Answer Sheet.

Now | am really in the soup, just broke my father's spectacles.
(A) in an unusual situation

(B) in deep trouble

(C) in rough waters

(D) in a funny situation

Correct Option : B

Question (188)

While talking to her parents, she let the cat out of the bag.
(A) fed the cat

(B) set the cat free

(C) discussed the issue

(D) exposed a secret

Correct Option : D

Question (189)

It is no use splitting hair now when we have bigger tasks to accomplish.
(A) fighting with each other

(B) sitting calmly

(C) discussing over the loss

(D) disputing over petty points

Correct Option : D



Question (190)

Direction: In Question nos. 90 to 92, a sentence/ a part of the sentence is italicised in
underlined. Below are given alternatives to the italicised part at (A), (B), (C) which may
improve the sentence. Choose the correct alternative. In case no improvement is needed your
answer is (D). Mark your answer in the Answer Sheet.

Monies have been collected and handed to the women's welfare society.
(A) Money has being collected

(B) Money have been collected

(C) Money collected

(D) No improvement

Correct Option : D

Question (191)

| bade him to submit all the important documents before he left the job.
(A) I bade to him to submit

(B) I bade him submitting

(C) I bade him submit

(D) No improvement

Correct Option : C

Question (192)

A seminar was oragnised by KD Campus in which little quantity of food was wasted.
(A) few (B) small

(C) some (D) No improvement

Correct Option : B



Question (193)

Direction : In Question nos. 93 to 95, in the following question, out of the four alternatives,
choose the one which can be substituted for the given sentence.

A person who moves from one place to another especially in order to find work
(A) Domicile (B) Vagrant
(C) Migrant (D) Immigrant

Correct Option : C

Question (194)

Pertaining to or of the nature of unreal
(A) Chimerical (B) Traditional
(C) Comical (D) Factual

Correct Option : A

Question (195)

To give up the throne or other office of dignity
(A) Abdicate (B) Depose
(C) Dethrone (D) Usurp

Correct Option : A

Question (196)



Direction (Q. No- 96 - 100) : In these question you have two brief passages with six questions
following the passage. Read the passage carefully and choose the best answer to each
question out of the four alternatives.

Passage -1

Although speech is the most advanced form of communication, there are many ways of
communicating without using speech. Signals, signs, symbols and gestures may be found in every
known culture. The basic function of a signal is to impinge upon the environment in such a way that
it attracts attention, as, for example, the dots and dashes of a telegraph circuit. Coded to refer to
speech, the potential for communication is very great. Less adaptable to the codification of words,
signs also contain meaning in and of themselves. A stop sign, for example, conveys meaning quickly
and conveniently. Symbols are more difficult to describe than either signals or signs because of their
intricate relationship with the receiver's cultural perceptions. In some cultures, applauding in a
theatre provides performers with an auditory symbol of approval. Gestures such as waving and
handshaking also communicate certain cultural messages. Although signals, signs, symbols and
gestures are very useful, they do have a major disadvantage. They usually do not allow ideas to be
shared without the sender being directly adjacent to the receiver. As a result, means of
communication intended to be used for long distances and extended periods are based upon
speech. Radio, television and the telephone are only a few of such means.

According to the passage, what is signal?

(A) A type of communication that interrupts the environment
(B) A complicated from of communication to describe

(C) A form of communication used across long distances

(D) The cultural perception of communication

Correct Option : A

Question (197)

Although speech is the most advanced form of communication, there are many ways of
communicating without using speech. Signals, signs, symbols and gestures may be found in every
known culture. The basic function of a signal is to impinge upon the environment in such a way that
it attracts attention, as, for example, the dots and dashes of a telegraph circuit. Coded to refer to
speech, the potential for communication is very great. Less adaptable to the codification of words,
signs also contain meaning in and of themselves. A stop sign, for example, conveys meaning quickly
and conveniently. Symbols are more difficult to describe than either signals or signs because of their
intricate relationship with the receiver's cultural perceptions. In some cultures, applauding in a
theatre provides performers with an auditory symbol of approval. Gestures such as waving and
handshaking also communicate certain cultural messages. Although signals, signs, symbols and
gestures are very useful, they do have a major disadvantage. They usually do not allow ideas to be
shared without the sender being directly adjacent to the receiver. As a result, means of
communication intended to be used for long distances and extended periods are based upon



speech. Radio, television and the telephone are only a few of such means.

Choose the most appropriate title for the passage.
(A) Speech variations

(B) Means of communication

(C) Signs and signals

(D) Gestural communication

Correct Option : B

Question (198)

Although speech is the most advanced form of communication, there are many ways of
communicating without using speech. Signals, signs, symbols and gestures may be found in every
known culture. The basic function of a signal is to impinge upon the environment in such a way that
it attracts attention, as, for example, the dots and dashes of a telegraph circuit. Coded to refer to
speech, the potential for communication is very great. Less adaptable to the codification of words,
signs also contain meaning in and of themselves. A stop sign, for example, conveys meaning quickly
and conveniently. Symbols are more difficult to describe than either signals or signs because of their
intricate relationship with the receiver's cultural perceptions. In some cultures, applauding in a
theatre provides performers with an auditory symbol of approval. Gestures such as waving and
handshaking also communicate certain cultural messages. Although signals, signs, symbols and
gestures are very useful, they do have a major disadvantage. They usually do not allow ideas to be
shared without the sender being directly adjacent to the receiver. As a result, means of
communication intended to be used for long distances and extended periods are based upon
speech. Radio, television and the telephone are only a few of such means.

Why were the telephone, radio and TV invented?

(A) It was difficult to understand symbols.

(B) People wanted to communicate across long distances.
(C) To provide new forms of entertainment.

(D) It was believed that signs, signals and symbols were obsolete.

Correct Option : B



Question (199)

Although speech is the most advanced form of communication, there are many ways of
communicating without using speech. Signals, signs, symbols and gestures may be found in every
known culture. The basic function of a signal is to impinge upon the environment in such a way that
it attracts attention, as, for example, the dots and dashes of a telegraph circuit. Coded to refer to
speech, the potential for communication is very great. Less adaptable to the codification of words,
signs also contain meaning in and of themselves. A stop sign, for example, conveys meaning quickly
and conveniently. Symbols are more difficult to describe than either signals or signs because of their
intricate relationship with the receiver's cultural perceptions. In some cultures, applauding in a
theatre provides performers with an auditory symbol of approval. Gestures such as waving and
handshaking also communicate certain cultural messages. Although signals, signs, symbols and
gestures are very useful, they do have a major disadvantage. They usually do not allow ideas to be
shared without the sender being directly adjacent to the receiver. As a result, means of
communication intended to be used for long distances and extended periods are based upon
speech. Radio, television and the telephone are only a few of such means.

This passage explains that

(A) significance of waving and handshaking is different in different cultures.
(B) different cultures have different signs and symbols.

(C) symbols are the easiest to interpret.

(D) signals, sings, symbols and gestures are forms of communication.

Correct Option : D

Question (200)

Although speech is the most advanced form of communication, there are many ways of
communicating without using speech. Signals, signs, symbols and gestures may be found in every
known culture. The basic function of a signal is to impinge upon the environment in such a way that
it attracts attention, as, for example, the dots and dashes of a telegraph circuit. Coded to refer to
speech, the potential for communication is very great. Less adaptable to the codification of words,
signs also contain meaning in and of themselves. A stop sign, for example, conveys meaning quickly
and conveniently. Symbols are more difficult to describe than either signals or signs because of their
intricate relationship with the receiver's cultural perceptions. In some cultures, applauding in a
theatre provides performers with an auditory symbol of approval. Gestures such as waving and
handshaking also communicate certain cultural messages. Although signals, signs, symbols and
gestures are very useful, they do have a major disadvantage. They usually do not allow ideas to be
shared without the sender being directly adjacent to the receiver. As a result, means of
communication intended to be used for long distances and extended periods are based upon
speech. Radio, television and the telephone are only a few of such means.



Choose the correct statement:

(A) Speech is the basis for communication to occur.

(B) Speech is dependent upon the advances made by inventors.
(C) Speech is the most advanced form of communication.

(D) Speech is the real form of communication.

Correct Option : C



